| Lecture 8 i

Adjectives
H L gl ) 5 clanal) 336~ H
Adjectives:
Adjectives are words which we use to describe people, things, events... etc.
sl
H a5 i) (Gl Caa o) Leandiins S e 5l o H
eAdjectives can be divided into two groups:
i 1. Attributive Adjectives |

Attributive adjectives appear before the noun.

* e.g. Thisis an important lesson. ]
H 2. Predicative Adjectives H
Predicative adjectives appear after the noun, in the predicate.
H e.g. Thislesson is important. i
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i 4fixill cliall ol Attributive Adjectives -1 :
; 4S5l 5l saiall cliall i Predicative Adjectives -2 ;
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i (This is an important lesson): Juall 13a 3 i
; 44a A > Important ;
| &
;% N a > Lesson ;‘

- 0353 LS dgand 4e sana (A 5 (NP) 42enl 3 ke (4 > an important lesson

Attributive Adjective s* important 13 ¢ lesson ol Y Jad caela important 4x< o Badi |
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clause 95}333 Qi gy ddavall Jaall UJS'JJ (A.'m.d\ -Predicate) d Jelall O st IS Ladie \;_)Slﬁ \h‘\-
sl Predicate s 2l Jeld lesentences

A 0sS5 Adall o3 of sf) an¥l 2 ek Predicative Adjective 4 o) Jsi Blhaiall 138 ¢he 13 -
(Predicate

(This lesson is important) : Jidll &
This lesson < (NP) dxau¥! 3 jlall o Jaa3ls
(NP) as¥) s |esson s

A b & ela(important) AalS 13 «(is) 4 sl Jad 2y 5 (lesson) a2 & eks (important) daall oSl
(Predicate)

This lesson < s ileall s2a & Jelal) 1)
isimportant < s Predicate J
Predicative Adjective = W se2i 1Ml ¢ Predicate J 2 & ek ddall

eMany adjectives can be used both attributively and predicatively, e.g. the adjective

“important” in the two previous examples.
| addils) o)) Sy Ciliall (g I
APPRILY. 7 PR P predicatively < s 433 - attributively=S

S sal3,6; attributively=S 8,6 sedai 8 ¢ il Galliall 8 “important” ddall Jaadl Jlie
predicatively

eSome adjectives can only be used attributively.

e.g. main, principal, chief
- attributively S L o343 o (S Claall (any 5+
-the main reason is v/ predicate I & (N) au¥) J8 Lelai Jail (5
The reason main ¥ 8 el laall 4 (main, principal, chief) :J%

e Some other adjectives can only be used predicatively.

e.g. afraid, asleep
 predicatively < b a2 o) (Sar s AY) Cliall (jany *

e O edai o LS Y s predicate A1 b i an¥) axy edai Ll
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H (afraid, asleep ) : Jbs H
ﬂ% predicate J (& 1 au¥) any jelai Cliiall oa- H

The man is afraid : J -

My brother is asleep
H Asleep my brother here : Jsill LSy ¥ (Sl 5 H
Afraid the man is here
(w5t ) predicatively 4 oo ) sSall Lld 4k saloss

L - Wl 48 gaue () 5S3 predicatively A o8 claall o 1 shaaY : J ]
I il A e i) G el sSacluiz) ) 9> ((an sla) |

U% ¢ Adjectives used only predicatively tend to refer to a temporary condition rather than a H

U% permanent characteristic. Look at the following adjectives referring to health in the H
examples below:

S Ay G ye fae ()5S 8 5 (Cse-temporary) 49 i 1368 « The old man is well today : J s Lexie-

U% e.g. 1.The old manis well today. H
I |
| In example 1, “well” is a predicative adjective that shows a temporary condition. J|
I ) ) ]
I (e Y (4850 alls - temporary condition) ) 3L sale predicatively ) b addius claall* Il
! .(%l2 Zpaa -permanent characteristic) }
| I
| |
| :(permanent) s (temporary) cm GA o s =i Il
| . ]
: 3_ual oddl & 5 < Temporary *
| |
| . . I
: (lasting — &aila) 53lgh sadl & 5 < Permanent :
| |
1 e b ¥ dauay > (The old man is well today) :Jte J
| |
| |
! (4¥ 35« 4~ - temporary condition) = 2523 A 5 predicative adjective < well 4Kl Il
| °l
‘ . .. < .. R o T . J
| dhal (B 5 om0 8 gl ) any (8 ¢ dlld aay Judl Asaar 2ds 38 (The old man) Jsaall daJi ) Il
| 3l daia b 05 B 5 A 5
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1% Compare example 1 to the next example, where the adjective “healthy” refers to a U
;% permanent characteristic. ;‘
| 4ils dpala -permanent characteristic) o Ui “healthy” el o cam ¢ 2 JEally 1 Jaa) ¢, oY) ]
| |
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|
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“"% e.g. 2.Heisavery healthy old man. H

The old man is healthy.

| .(4<ly 4pald —-permanent characteristic) > He is a very healthy old man- ]
l J
L 05 Ol " healthy" diwall o3¢l (e 18] i ya Lo 1ol 53 liae Anmy jsaall Ja Ml 13- )l
U% (4dini 4ba - Attributive Adjective 5 s3ius 44 - predicative adjective) H
L, .(%l2 Zpald -permanent characteristic) e 2525 d
H: ¢ In a few cases the meaning of the adjectives changes according to its position in the clause. ]
l J
‘T e.g. Ahmed was late. (Ahmed did not come on time) H
ﬂ |
“"% The late Ahmed Al-Ali lived here. (Ahmed Al-Ali, who is now dead) H
I .. clause J\@W)wu\&HMM\MQYB@ E
L o) s ) selh e cilide ine Led @ 5San an¥) U8 Adall el 13) 13 - ]
l J
| Ahmed was late :Jts Il
| ‘ ‘ . . |
i thasally il b il ol daal o & Aleall o3 b (Jate) ZalS ixe i

ileall 32 4 4 predicative adjective ( late)-

H% The late Ahmed Al-Ali lived ) JUall i LS " Attributive Adjective” Ala 8 U 38 ( ate) 4als- :
s here. >
| J
I N < Ahmed d
Il |
| J
| NP & 54wul 4c seae < The late Ahmed Al-Ali ]
I I
| ]
ﬂ° (N) a=¥) J8 & yels 5 Attributive Adjective < late 7l
" A
- Slall cd gl i e Ahmed Al-Ali of Us lixe < here :
5 B
Il |
L Gl il (4 Cue jadd > The late Ahmed Al-Ali :
I |
I Attributively < lgexiini 5 Lgkiis Lovie ( [ate ) 4alSl iy gnall 131 |
Il |
| J
| :Jsi8 (Ahmed was late) (Js¥) Aleall Jxe udi 23] Attributively ( late ) 4alS aladiul WiSe akll- ]
I °l
IL J
ﬂ" The late man fined be arrived il
17% DAL Ja il o A e (ST " Attributively” W) ) aa¥) J8 G oeds ((late ) AalS o) aadt dleal) sda A “
Il " . . “ e e . N T T " J
‘T oY) Jaé Attributively < Jaad ( late ) FA padiiid Cile 38 La laaf 0l Jsall Loyl 1) o Sg-, Juag 8 H
ﬂ% (late) AalS aadivd ) iy danall gl & ey ol addll ol Jl) oo i 1 ldciuna sl cruny iy Sl i
ﬂ% (late) AulS pladin) iy < Cile B (ads b J ) 3 5 Lxie (K «predicatively i Attributively < H
I L Attributively < Il
I ]
|
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DZ Exercise. ]

U% Decide whether the underlined adjective can be used only attributively, only predicatively or H
l both. d
! |
) a. only attributively b. only predicatively  c. both I
l J\
I 1. He is a smart student. 1l
| . 1
i Li€ay a23 ¢ The student is smart < Jséll LiSa Ja i

predicatively s Attributively < lealasin) (Sad) e smart 4l 1)

c. both s il sall
L 2. The child is a sleep. H
3 ¢ predicate 41 8 au¥) 20 Y selall LeiSay ¥V ) davadd) cilicall (e 4 asleep dalS of o5 S LS
I The asleep child is awake now s

predicatively ¢ a3l i predicate J & V) 223355 Y (asleep) 4l 13

l b. only predicatively s <l sall 13) ]
l J
I 3. One of the main causes of lung cancer is smoking. 1
|

|

(causes) ax¥) J& <l (main) 4elS }

b

. J

?‘”y‘ Ji Cels g 4aall <main &

~Y) < causes

Sl & LS ¢ " predicatively” 55 o) ¢Ser Ja oSy ¢ " Attributively” Cela (main) dalS :
The cause main of lung cancer is smoking 1

|

. Attributively k& 5 (main) 4 13 « Wi ¥ Y ;

a. only attributively s zuaall il sal) i

4. Are you afraid of the dark?

d‘f}“g@-ﬂ cﬁ)ﬂ\ bl\&sQAJ.AAJ\ PO o
\ |
} :J 8 (i -statement) (o)) 4l sa O Gaag Ui ]
| ]
i You are afraid of the dark }
| I
I ol
| |
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ﬂ% sH el ey Ja cpredicate o 13 (are) 2= predicate J 3 wsls afraid &S of ]
[ 13 ¢ (afraid) ool o3 (pe 4000 5l Agand (o8 LiSay V.Y fAttributively Il
U° b. only predicatively s <lsl H
I |
H° 5. This runner is fast. OH
\T He is a faster runner ; J 8!l Li€q H

The fast runner is here

l Attributively s predicatively < (fast) 3alS aladiul (Saall (5 13) |
I o
: c. both s <l sall 1) H
: l
I . . :
Adjective Phrases
H |
‘T Adjective Phrases : H

Adjective phrases are composed of an adjective (which functions as the head of the phrase),

H: a modifier (mostly an adverb), and a complement. ]
: gl &l jlal)
” D 0o alli Aggaa gl 5 al H
i -3 Gk (S Lalane > dlaes - modifier =2 5ball Gl S Jead ) 5> 4dia - adjective -1
I 4l - complement }
1

1 sl Ldagh) & jlal) ;

3okl el 1) o ddal) o3a digda g Ladé Al e gsiai -] i

)

s fale 55S5 Aaeall 028 5 Adedll 5 3aal) Lo g 5ia 8 -2 i

|

AL il e 5 5ia3 543 I

LA Al il e g a3 8 -4 |

Modifier Head Complement J

Good i

Good at Mathematics i

very Good }

very Good at Mathematics }

]

‘% : Jsiad Bl I
| |
\ J
‘% _h'&)\__\ﬂwi)}‘@\.@.ﬁ.\kﬁl.}}mm>g00d-1 °°U
| |
\ J
i e 25235 jladl () st Bale W) Jadd saal 5 AalS e V) (5 53 Y el (e pe Il dda gl 5 jlally s e I
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g i 4;'\3\ Lg);\ Adia g Ol e J\) LS,);\ dda g 4ia Jeditl 4dia g &l e Lgie J 431 Jaad (classifications

((4ba e ST e

W palic 5 il Sl  Lavie ol ) saY) Jaad i o 5 5Ll (good) AalS e i o LSy 13 -
good at math -2

. (good) wi )l 4l Lgidids s 5 ( Proposition phrase — ssya 5 Jla3)e) 4 > at math
3okl oded Ll & 5 4ia & > good

(S8 Jare) 4tia g3 ke & > very good -3

(g00d) ol 438 Alixe Ja 5 Jls 2 > very

8kall s2gd Ll )l 54 5 44a > good

L A ealiall Ul Uia -4

4ia 55 ke A > very good at math

(good) LUl A Jae 5 Js > very

N & 544a > good

(good) Ll )l 4l itk s 5 ( Proposition phrase — Jssa 5 Jia3,le) & > at math

¢ Gradable adjectives are adjectives that express a condition or quality of which there are
degrees.

Claall o3 s jal e 5 sl amaa g e el Claa 4 43554 clial)

433 100 ¢ sie 4353 70 e 4n 2 50 A sia 4a 50 10 ¢higie 4n 3 0 ) Sla Ll claall o W JiG
(e

45 sl s e Talaie) (gradable) il o L 05S5 of clieall (e 13-
For example, “good” is a gradable adjective. There are degrees of “goodness”:
.(gradable) & <85l udiy 54 68 “good” el e kil Ll 13) 1 QU Jaes e
:(goodness) 4alsl s 5o Sllia*
1. High Degree
e.g. verygood
(Aadiall) Allad) A3 -1
very good /JU«

good (= s $ very good 5,ke > very good s good o 0 )5 s il ina Ludasd very dalS Ll

a.allia.n a. <y ©



5 2. Excessive Degree -
e.g. too good
D dadgia yad Ayl -2
Adnd i L SIS (5l candi g (6 Al ¢ 5 Walina >excessive
(It is too good to be true) « too good /J%s
| Aol sigd Lm (59 O ool 138 Con 0855 05 gl n ST 5 8 Lan ST i ]
L (st ¢ e aie¥) 4 gaam din y ol o Ui 13 * |
4a & > The test is difficult -
sl 4 > The test is very difficult-
Jall adaind ol il 4 A 4sma & > The test is too difficult-
3. Sufficient/ Insufficient Degree
H e.g. good enough, not good enough H
H D AS yal) g /[ 4dlsl) an ) -3 N
Lop Rl (IS e JSG o) GalS R (e B s

good enough /Jts i

|

Ll Lo el S IS aan Lol inas b 5 ]

|

not good enough /a1 Jtis ;

LS PRI J°5- L) . IR

4. Comparative Degree

e.g. better (comparative form of “good”), smarter (comparative form of “smart”), more J
beautiful ‘.

: ﬁ)&fd\ 5\4ﬁ£\-4 |
| O O O (A 5 Le AT A A An ) ]

" good" AalSl 45 jaal) da all & > better /e

‘ "smart" A4S 43 aall 4a Al & > smarter ;‘
v T . A
] " beautiful” 4l &5 i) s )3l & > more beautiful J
\ |
I A
i |
U |
I a.allia.n a i ® Il



“"% 5. Superlative Degree H

e.g. best (superlative form of “good”), smartest (superlative form of “smart”), most

H beautiful H
sdpludadil) 4 ) -5
H LOfd e ST e s o Qi b g Le Al i) A 50l H
" good" Al Al dx Al & >hest /JUa
"smart" AlS Lhadll A ol 4 > smartest
. " beautiful" 4elS1 A luadil) 4a )l & > most beautiful >
¢ Some adjective like “complete” are not gradable. They are not normally compared, nor
S modified by “very”, “too” or “enough”. &
I |
H (st i 3 e 5 ) alins (complete) AalS (Y 4 5lite a2 Ll Gud (complete) die ciliall (iaxy * H
Lo dayn el e daa Y 5435l cila 50 Led Ll (perfect ) 4l L
it (very- too- enough ) led iy 5 (& Y el oaulall (he Cliall o3a i

¢ Adjectives referring to shape (e.g. round, tall) or size (big, narrow) can only modify count

This is big water :dJ & Lavie (Sl

P nouns. They cannot modify mass nouns. :
L J
I I
H% e.g. Thisisa big building. INCORRECT: This is big water.) s;o
i J
L (size — aaall ) 5 ¢ ('shape— JSal ) @ o gai a8 Cilinall * ]
Il |
i J
| round, tall /J%« :( shape — Js&ll ) - ]
I I
L _ . s
I big, small, narrow /JG : ( size — aaall) - |
Il |
+ (ALY 33 50ma al) elansdl) Jans o) LeiSay Y 5 53 samall lansl) J3a3 Lo 1 amal) 5 30 >
5 B
Il . |
H% This is a big building /Jt :
L J
U% (refer to size) s>~ 2 > big }
Il |
I |
I A532a ansl 98 > building |
I °l
L . . . J
W _e._aal\‘_“l:J}a.:\ﬂ\_'\Y @»Y\d,\ﬂ(mg)ulsc‘ﬁ.a@aaﬂ&d °
T

E

L S L) Y el ami o Ly Y 43y Akl dleall U ]
Il |
5 ; . . B
I Ll aaa IS 28L 5ac 6l il L (shapese JSEYT) L il Sl 6 AY) cliall Jin® 1
. ]
) OU
|
H |
I a.allia.na i ® Il



ij Function of Adjective Phrases i

U% Function of Adjective Phrases: H
I |
| 1. Complement of Subject +BE )l
I |
I e.g. Ahmed is very intelligent. Il

rdia gl ol jlad) il g

| a5l 038 ) pagiis Lim 1 paingd 13 ¢yl 5 jladl e 5 daans¥) il Jlal) il e Bl L 3 8 !
ia )l aall 10
I 155180 Jab + Jolill ALasal) - ]
: A 5 B Y 5 e a5 s L ]
" (main verb -ubal Jad) 058 dida gl oa 3 43Sl Jad- a

Ahmed is very intelligent /Jte

| el a3 el G Galall Aapa g s Alead) 63 8 diadl 5 ) Jadl) Sis ]
l ) ) ) ]
L Jelé > Ahmed )l
l ]
\T ¢ Alaal) cine JoSil dlga LY Aaall a8 liall 038 Cada (S Y 5 ¢ 4dia 55 ke > very intelligent H
I Ahmed is very intelligent : Js& o sy ¢ aall ¢35 s Ahmed is : Jill iy M ]
I

-

2. Complement of Direct Object i

é"o

N o )

e.g. He found Ahmed very intelligent. (He found Ahmed to be very intelligent.) }

 isall  saiall Alagal) -2 i

-

He found Ahmed very intelligent /J%s |

laa (g te deal of layadl 1 g Alaall ixa La- |

OS 2eal ) ) (x5 Aaall ma (e i 43 ¢ Alaal) ¢ 5 b (He found Ahmed) :J s o LiSa Y- i

cAdeal) e Adla 35 g aal imall 138 5 (La aad oda 55 ailia i

(Ahmed) 525 Jdlaall J siall aleSa 28 > very intelligent -

3. Pre-Modifier in a Noun Phrase

J

\o e.g. My very good friend is coming to visit me. H
| |
\ Al o8 B 8 Jona -3 i
: My very good friend is coming to visit me /Jt« &

oIV 58 5 au¥) > friend

I anlliaina<i ® Il
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4a g3 e A > very good
Adia 55 ke Wik 6 4l 3le & > My very good friend

Sela 35 (friend) awd) U8 Ciela dia sl 5 lall OY (friend) ad) clie (very good) iea sl 5 jlall T3 -
:%T.IMY\ B‘)L.ud\ 4_@ L.a:g\ BJL_BJ\ 0da

5 Y3l Alla b Aaall i (e Grans¥) 5 slad) an o) ol OS5 c¥asmall G 3l Ui 130 *
AT anls Ledasis

He is coming to visit me :Js2# (he) = iwi 5 (My very good friend) s_lall 22
41.\:2‘5«5 Banieal) 5 5Ll i U (4
4. Post-Modifier in a Noun Phrase

e.g. We must find the person responsible for the robbery.

D dgand Be (B gy Jaa -4

We must find the person responsible for the robbery /Jtis

G 58 5 aul > the person
il s3as Jana 54 5 4da > responsible

(him) =i (the person responsible for the robbery) WS s Ll o3 Jasius o) (el (e 13) -

gt
We must find him
(am daxe) el 1) Jand g dpansl) 5 )Ll pe 83 38 (responsible) ddall i Laadu-
5. Head of a Nominal Group
An adjective can be the head of a nominal group in the following special cases:
Lald s o3 > aenl 4e gaadd (Wl -5
(N) a5 Al e sanall 8 Bale Ll 1) G Wl 5 Apans) a5 pan¥) e senall (o il L 0 *
o S Apan¥) de ganall 8 Gl N (8 ddall 0 5S5 8 dals a8 oSl
a. with a number of adjectives that refer to a class of people.

These adjectives include: blind, homeless, poor, wealthy, young, elderly, living, dead... etc.

The following are examples of nominal groups with an adjective taking the place of the
head:

Coll e i ) il claall e axe e -
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H blind, homeless, poor, wealthy, young, elderly, living, dead... etc /Ji H
| y o . |
‘T 2l Gbiaal) Ul A8 ) LBA el aid L dles 8 blind SY Ledie- H
- Adall oda (8 (S ilial) Wil 43 ) IS e s (a3 Le dles 8 homeless USA3 Lexie- -
- A ddia (8 S iliall Gl A8 DDA e el (a8 Lo dles (8 poor SY Ledie- -
I aall b dsand 4 gaadd (ol S Lalatinl LSy ciiall 538« &), - I
| ‘ ‘ |
I |
L% We gave money to the poor. (the class of people who are poor) ‘
I |
U% The wealthy must help poor people in our society. (the class of people who are wealthy) H
I |
U% The young are our hope for the future. (the class of people who are young) H
l ]
L (poor) s& led Gl )l 5 (4peusl 4 5a3s) 25 (NP) > the poor -1 ]
| |
‘T )ssl\:um‘__‘ﬁu.\iw\ wm\wuﬁmqb(poor)wh} H

5 (NP) s 33l Jeldll () LS LS 5 ¢(NP) 585 0 55aa3 WS (subject -laiw) 45l 5 > The wealthy -2
‘o‘% 33.\4.“ K] (The) E‘J‘Y\ Lﬁgﬂ LS& (N-VN'M\) Lgdl u.n.\l Lia ‘Q\:IAuy\ 'SJL.\:_“ u.ui)” (5“ B 44 ‘SA (Wealthy) Z\.JS é’ﬂ
“’f’ .(NP) s (The wealthy) «(wealthy) H

il Ada b o i) il e 3] 4a o (wealthy) 3elS 1)

1 . (3% IS8T - abstract ideas) o)) i A 5 daan) e genall Gl 5 5 4da & (Unexpected) 4 13 - }

H% (young) s L daall 5 )l 5 4seul 4 sene & 5 (NP) > The young -3 :
| |
;1 Al ddia 8 S iiall (el e A58 dda o (young) &S 13 }
Il |
H b. A few adjectives referring to abstract ideas. ;
I s
H e.g. The unexpected happened. The unknown is frightening. ;
H ot Aull) sl Al - i
L, s
H Lo g3y Lounal W5 Lty ) WiSay ¥ oLl Walina (03 yna LIS - abstract ideas) (o) i il ciliall (s }
. Ulie 8 058 :
| |
i} The unexpected happened /J%s 1
Il |
H The unknown is frightening ;
I &
H L Uphla & Jsad IS8 e 3 ke Lagh Legadd Y 5 Leglys; WiSas Y ((unknown s unexpected ) LS ;
H Agan) e A dgan 4o sanal Gul S 0l el 28 (il (ila- U
L, s
H OV (A 5 4sanl 5 jle b Cels (unexpected) il «(subject — i) 4 > The unexpected- H
I . (The) 9L <l 5 GauY) e panall J
‘0%

L

:

I a.allia.na i ® Il
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H e sanall Lol )l 8 5 4en 3 le 8 Cela (Unknown) 4aall ((subject — 1xix) & > The unknown- H
I . (The) 8L il Zpau) 1
. (s30me \Sil - abstract ideas) o)) i A 5 Ay de sanall (il ) 548 & (unknown) A T3 -
" c. Adjective that refer to the people of a country. -
e.g. The English are very polite. (the people of England)
The French are very interested in fashion. (the people of France)
Al Gl e Gl ) el Clbia s
i The English are very polite /J% A

el de sanall GiIN a (English) 4éall 5 caaul 4c sana & 5 ¢(subject — i) > The English

I Al A e o 0l ) ) a3 4ba o (English) A 13) |
H The French are very interested in fashion /Jte H
Al de sanall (M) (b (French) Al 5 ganl 42 sans (4 5 ¢(subject — 1) > The French
Ly 450 (et () i) ) i ads o (French) 4elS 1)

Exercise.

Identify the function of each of the underlined adjective phrases below. J
|
3
a. complement b. modifier in NP c. head of NP )
é"o
|
1. The driver responsible for the accident paid the fine. o

(driver) Gl s3as Jae (A 5 4da & > responsible

oY s > The driver :

(he) = Asans¥) 5 Ll Jlaiasl LiSay 43 $hgans¥) 5 5lall Jana 431 Wl 13 ¢ b, modifier in NP s& ol sall 13) ;

I

2. The driver was careless. ;

i S >The driver
L oulad Jod 2 5 4508l Jad > was
} aleSe Ciela a5 4dia (o8 > careless }
\ \
1 Aleall e JoSil age Lad g g (careless) 4alSé ¢ dlaall 63 9 The driver was (J 8l LiSa Y-
|
I u
H: a.allia.n a.S3 @ ]



H a. complement & <l sall 13) H
3. He is a careless driver.
i (driver) oIl 18 Jaze 525 (a careless driver) daes¥! 5 )Lall (e ¢ 3 s > careless |
b. modifier in NP sa < sall i3]
H 4. The police found the driver guilty. H
. (driver) 4 Jseiall 4la _gd ileall Jine JoSil Lgalini > guilty
(subject — J=l&) > The police

U% Jaé > Found H

. 4 Js2ie > the driver ]
| llay) A all inal) s 3 WB ) 43Y <The police found the driver @ Js&i o gl ¥* [
I o0 Aleal) sda 8 alliayl o jall irall oda g 8 o il 5 adls S L) G G MG aa 5 il muad I
I Cide s Sl of cadl L pall I
H Al e JLSY dage A (guilty) Aalss 13) H
| 1
\T a.complement s <l gall 1) H
‘°‘5 ]

5. The elderly must be respected.
(subject — Ixix) > The elderly A

A e sanall Gul Il A (S5 Adeall o Cumy LSS ) Aalal) Y (e A 5 cdiea > elderly ]

L Lan) e ganall Ll )l 8 5 ¢(elderly) ) dda b oS jidall Gulill (e 2381 4da & (elderly)ials- i
a5 Ll 3 Ll o (elderly) 3eS 1) 8

c. head of NP s& o sall 13

Ho a.allia.n a. <y © OH
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Lecture 9

Adverbials (Adv)
i gkl
Adverbials (Adv):
¢ An adverbial (abbreviated as Adv) can be a single-word adverb or an adverbial phrase.

” u,

¢ An adverb is a word like “here”, “tomorrow” and “quickly” which we can use to say where,
when and how something happens. It can also express other meanings like frequency,
degree... etc.

¢ An adverbial phrase is a group of words that does the same job as an adverb.
(AdV) — ity B okl
(058 8 Gkl
AW - adverb” =3 5 < saal g 4alS*
Syl s jle — adverbial phrase" e 5 <8 jle*

s (S 5 e 5ol ) sl anasins o (Sar 3 5 (quickly -tomorrow -here) Jie 4aS sa ;Jiall-
S Al e e Jias of Ladf LSy 5 o(@slad) 5 Bpmngl) 5 2 ) e e glan dany 568 i e
(2 sl 4a 3 - degree) s (22,53 5 95 - frequency)

Jal Jae i Jasd A S e Ao gana A 1A8 BN 5 jlall
Adverbials include:
1. Prepositional Phrases
e.g. We were waiting in the lobby. (adverbial of place)
1l i g Y
D osoaal 5 el jle-1
We were waiting in the lobby /JUs
OSall oyl la Cela 8 5 55 58 5 )l 3ole (& > inthe lobby

Ugd el Sison e e yanl 4ilSa )l Ciela Aleall oda A 5 cad )l (58508 5 aall 5 ) &l jle *
sle Gsial Hs aall 5 el e

s >n

a.allia.n a. <8 ©




[ NP > the lobby |

2. Noun Phrases

e.g. | will visit my uncle this afternoon. (adverbial of time)
s e @l jlall-2
I will visit my uncle this afternoon /J%s
kel oS B ) i & JaaS 8 5 NP (2 > this afternoon
.&Mﬁj&hﬁg&\&;.\;&;&);dou)'ﬂq)ksa_}wmew\Q;gm*
L) anl (o2 > this
N > afternoon
i 3. Clauses including: d

a. Clauses with a Finite Verb (finite clauses)

i e.g. We need to leave before it is too late. (time) Pl
H (LIS (5S35 el ) o Jaal) H
| ]
i (323l il Jlall) o & sl 138 5o 5 caame b ae il e - i

(sxllegadille e 3l) Gaua e 5 saaall <l jlad) o Tl Ll LS

A

:

i We need to leave before it is too late /Jta :
L q
‘ (22l paddlleya ) s ey (finite verb -2ass Jad) 8 > s 1
| |
; Ll oa3ma a5 jlual) o368 (Clause — 5k ) & 2ane e Las 5 13) Gise U S3 (i ;
| s
; el ok a5 Ll e Aak 5 1Y) ey Litke | (before it is too late) 5 ke 13- ;
2 b. Infinitive Clauses (non-finite clauses) &
e.g. | am playing to win. (adverbial of purpose)
| |
; (s03ma il S Lall) g sl 138 g0 5 ey e e }
| |
; 10553 3 Non-finite ) of alad L* ;
: (b+v+ing) present participle Jae® U

past participle

L | am playing to win /JU« H
| |
| |
L oAl sl Al 4 e b Laelid Ca syl Ciela U o(to + base form of the verb ) Jyae s > to win H
|
I |
I a.allia.n a i ® Il



\T c. Present Participle Clauses (non-finite clauses) H
| |
‘T e.g. He ran down the road, breathing heavily. (manner) H
% oddaa piall Gl Hlwdl) oo sall 1Ay e dig ¢y Ul Cay ) & N %
)l lall) g il 13 ge iy ¢ ualall SN Gy sl e
U% He ran down the road, breathing heavily /Jbe H
I |
Uo U Cela 38 "&JL..AA\ Jelal) e.m‘ BJL.\;::)';T ! palall g’_dj iy pali Bl <> breathing heavily OH
U% oo daai ol gl o sl 4 e 8 Lacls (o)l H

Exercise.

H Identify the form of the underlined adverbials. <<<< dipal) ga Ly slhaal) H
a. NP b. PP c. finite clause d. non-finite clause <<<< & Ja
1. He visited me in my house.
°:° s
PP njiouse
| b.PP 1 s sl T ]
H 2. He is studying to pass the exam.

(to pass) goraddl Jeldll Lyl i

(to) = o0 2ny dan sl (pass) Jadll-

IL

I

IL

I

IL

I

IL

|

I : . cr. "

H% s3aa & (gl non-finite < OS5 Laila jabaall f e LE o :
L, J
L d. non-finite clause : s& <lsall 13l )
Il |
L, s
I 3. Ali has an exam this morning. |
‘0‘0 g"o
I, g s . s
ﬂo 3 L) @l > this i
I (when) e 8 xe 8 Liele (NP) | ]
. 0 orning -
I, J
I il
L c. finite clause 198 <l sl 13) i
Il |
I, J
Uo 4. | will give you my homework after it is done. }
H |
I (clause — o k) (& 5 (el 4 yee & Laclus > after it is done Il
I |
ﬂ% Aaa Jzd 4 > s }
101% C. 15 sl 13 >> (finite clause -eaass) 3 ball ruaind dasa Ja Lead Laa 5 13) clause I of Ul U
ﬁ% finite clause ;‘
" N
Il ‘
H |
I a.allia.n a i ® Il



5. They walked together, smiling widely.

Lop ol Aol A8 jra 8 Laelid (Non-finite clause — s23xa e 3 ke ) A > smiling widely
(233« & — non-finite )52 ing + J28 > smiling

d. non-finite clause : s <l sall 13)

Many adverbials are adjuncts; they provide additional information, are part of the structure

of the clause, but are optional. Adjuncts include adverbials of:

1.

Place (position) telling us where (e.g. in the hall, there)
. Place (destination) telling us where to (e.g. to the door)
. Time (when) telling us when (e.g. at nine o’clock, today)
. Time (duration) telling us how long (e.g. for 10 days)
. Relative time telling us how long ago (e.g. just, still)

. Frequency telling us how often (e.g. always, rarely)
. Degree telling us to what extent (e.g. almost, barely)
. Manner telling us in what way (e.g. carefully, with care)

daual] 8 yalaally 138 US3 >> (4 lial) dual 3l e Ll LSS ol sil) 5 el 58 (585 38 iy plall*

Ailza) il slee Jah Uiglast g8 Alaall Jimall JaS) & dagn e 6

Bale somalls Sl e 8 Wbl LS cql 558 gl g ) 5S5 8 Ca s Bl e 3ol 13)

optional- 4 L) a-

part of the structure of the clause, but are optional - 4,8 (S 58 )bl el 8¢ ja a-
provide additional information - &bl i shea o366 a-

i gl Jadd gl sl

(o) oo a1 (dmdag) Ghsall dijlaeg

in the hall, there /Jts

(e ) e Lsdi 1 (4dy) glsall il

to the door /i«
Gl ) aald sese > Mohammed is going to the door :Je il L caald Lo padd o U iy
"4¢> 5 — destination” > to the door

a.allia.n a. <8 ©
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I (Lo sl San i) "l o L 1 () el B3 |
ﬂ% at nine o’clock, today /Je H

(G oaind il (a o) g Uyt 1 (058) a3l ey

A for 10 days /Jts B
I (comn 5l o ) o Wit £ el gh i 5 gl Al 5 1
l J\
I | just finished it > just /Jte 1l
| |
‘T I still here > still H
(05l QS ) o Uyt 1Sl il
U% 36> rarely < Ll > always /e H
I |
| (2l ) oo Lo tledaal Gily J
l J
| B s (e Cugl ) Jmay Gl Ua > | am almost done my HW. > &by e — glmost /Jba ]
| (etib ) slemyl eliy e i
l ; J
’ (e (o8 il e arely finished it while my teacher woke in > 2SI — barely ;
ﬂ da e el S 3l olina Ui > | barely finished it while my teacher woke in > Sl — barel ﬂ
ﬂ% R0 ALY (KL gl Sl H
(4 sb ) oo Ut sedaall o gt 5 sl i iog
§ : ]
do it carefully > carefully /Jbs :

|

you should handle it with care ¢ do it with care > with care !

Exercise. ]

a. adverbial of frequency c. adverbial of degree |

b. adverbial of manner d. adverbial of relative time i
(?‘o
1. He always drinks tea in the morning. :

|

|

|

|

|

|

|

|

|

|

|

|

|

1

J Choose the type of the underlined adverbials. J
|

|

|

|

|

|

|

|

|

|

1

| .

: a. adverbial of frequency : s <l 13 >> ) <l (s )l - gdverbial of frequency > always
|

| 2. The climbers barely made it to the top of the mountain. |

\ c. adverbial of degree : s <) sall 13 >> L 4a 0l (i )ls - adverbial of degree > barely |

3. He finished the exam quickly.

I a.allia.n a i ® Il
: .
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a. adverbial of 1 s <l sall 13 >> Le Jaail 5f @lsld o o 5luY a5k - adverbial of manner > quickly
manner

4. My friends just arrived from their trip.

a. adverbial of : s <l sall 13>>l Jaall o @l gl o o sluY a4l - adverbial of relative time >just
relative time

5. They bravely climbed the mountain.

a. adverbial of & s i sall 13 >> Lo laall §f &gl o Y Ca ki - adverbial of manner > bravely
manner

Note: Similar to gradable adjectives ( Lecture 8), some adverbs of manner can be gradable.
We can give different degrees of the meaning conveyed by a gradable adverb. The adverb of
manner “carefully”, for example, is a gradable adverb.

e.g. very carefully, more carefully, most carefully
Some other adverbs of manner, e.g. “perfectly,” are not gradable.
" gradable adjectives " o= 4l 5 palaall 8 Liaas 2140 gale*
ila ) e sSs 8 G lall i o gluSU ) sa Y ans -
AR Al (U8 () IR e il 5 inal) (e (A3 glie s ) Aiie a3 a3 o LSy -
:( gradable adverb - daall &igléia Jia) 58 JiaS "carefully" 4alS @lsle 5 sl Juadi*
(Axdi yall) 4dlal) 4a Al - High Degree > very carefully
4l 4a Al - Comparative Degree > more carefully
Aaliadill 2 Al - Superlative Degree > most carefully

@ slite-gradable) 1558 of (Sar Y « completely — perfectly /die ¢ DAl @sbe o slul J a1 Gans®
(3

a.allia.n a. <8 ©
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Position of Adverbials

Position of Adverbials:

Adverbials can be found in three main positions: at the end, at the beginning or in the
middle of a clause.

2 g Bl audal ga
ranll ) 5 3 L laaa 3 (i LAl

(Caasiiall) Janssl) - L) - Al -

1. Final Position
It is very common for adverbials to appear at the end of a clause.
e.g. Thank you very much.
(e g sall-1
. (clause-s_lall) Al b eday of o lall liadl)
Thank you very much /J%s
. (clause-s_lall) 43 & jela B 5 i)k 8 > very much
2. Initial Position

Some adjuncts, e.g. adverbials of place (position), time, and frequency can appear at the

beginning of a clause. The purpose of this position is to focus attention on the location, time
or frequency of events and activities. For example:

Two days ago, | saw my dear friend Ahmed. (focus on time)
In Riyadh, there is a big celebration. (focus on place)
1)) il ga-2

3" frequency-_) S 5 "time -0 U 75 “place (position) -(4sas) GSall Cag IS ¢ al il (s
o S 5 olmyh A8l o cand) 5 A0l 8 aa el (pea i se agd 5 (Clause-dobiall) ) )5 eka
JSE e ol (0l oo i Laie) <l e ol (5 k) 8 Aa Sl Caph e Ciaa Ladic ) ad sall
Ay g alaal

Aleall b e sleall et aineall ol 2 3 s Cranialli-

Two days ago, | saw my dear friend Ahmed :JEall Juws -

(Y Je xS A >Two days ago

a.allia.n a. <8 ©



[ O Oty anialls a3l e acinsall ol 231 g8 cndl 5 Aol slinaa g s Aledl) (g a3 i plal) bl I
[ Al 8 lelaa o8 13¢) aga L e ) I
| . 1
: saw my dear frien med two days ago :Js salall (je- I
“" I dear friend Ahmed two d dJ Ll H
- a3 sa 5 pge Alalall (o 223 Ua > Two days ago, | saw my dear friend Ahmed :Jsill Ladf oSadll (e >
U% In Riyadh, there is a big celebration : I JUs H
l J\
L (USal e 3<53) > In Riyadh |
l J
I ere is a big celebration in Riyadh : J salall (e - Il
I Th b lebrat Riyadh : J Lall |
I .. I 1
“T’ In Riyadh, there is a big celebration : Js& (Sl e adivall ol il La ) 13) Load) Sadl (a5 H
% 3. Middle Position s
U% Single-word adverbs of frequency, adverbs of relative time and adverbs of degree normally H
U% appear in the middle of a clause. Their position is immediately after the operator in complex H
% verbal groups (Lecture 5), immediately after the full verb BE, and before any other simple ®
= verb: &
I |
U% e.g. We have often talked together. (after the operator “have” H
I |
U% We are still waiting. (after the operator “are”) H
I |
I We are very tired. (after the full verb “are” 1l
. b
|

We still have some money. (before the full verb “have”) I

We sometimes go to Jeddah. (before the full verb “go”)

: (cinaiiall) bausgl) g 3a-3 !

%

dale (L da )0 -degree il i sll-relative time ¢« Sil-frequency) & J s sam ol cilalSl) S 1
(clause-s_leall) Jawi s (B ks |

01955 pgaudal 34 <<< S gy 135 |

(<13 L83 Auwalid) 3 palaal) 2) s2inal) dbedl) e sendll 3 1558 (the operator -Jalall) 2 -1 i

T8 (o) JalSU A 53l Jad 22y -2

AT g Jed 61 48 -3

\

We have often talked together /Jts 1

o . (have) dalall 22, ¢ls (often)-
i ot sl Jlsm § 5oy O (Sadd) e 5 «dalall 58 (have) ¢«(have talked) s38sa dilad de gana Ll >
1 (talked) YY) Jadll 38 5 (have) Jalal) am ela 385 (k) Jis 8 > (often)- U
L |
) a.nlliain a8 ©



H We are still waiting /Jbs H
| “ | o :
i el s 5 (are) 45Kl Jad Ll ((are still) s2ine dulad 4c sana Lial- :
3 .(waiting) gu\.u“zl\ Jadll Jd 5 (are) delall any els 385 (Gask) Js 2 > (still)- |
I We are very tired /Ji« J
H Jed el U (are) 235uS Jed 5 edla cela dy bl Jed ol Aleal 02 A (tired) < 4alS ) 50 H
| J\
| (are) dadll 20 2 525/ J > very aall e a5 Js¥) GOkl G adls a5/ Jeld > We |
| o , 7 ]
\T Leayl Jls > tired et ua gl Jadl) sa g dlaadl 8 ol Jad /43538 J28 > are H

We still have some money /J&s

L, .Y 8 L (operators — dalsall ) lae Lo s ,a Y1 Jladly) JS* pl
H Ja 5 " have" i ¢l > still =l =3 > have H
We sometimes go to Jeddah /J%s
(sometimes go) Aa i Leai
i " go" mlu¥! Jaill J la 5 Js > sometimes bl J=28 > go d

Function of Adverbials l

Il

Il

IL

ﬂo

ﬂ% Function of Adverbials: i
I A
| . . . |
1"% Some of the functions of adverbials include: 5
IL .
I I
H% i gl Cails g :
L, 5
Uo el Ca g ylall Cailda gl (ang® 1
Il |
L, s
i 1. Adjunct ]
I’ A
IL .
i e.g. | knew her very well. &
IL .
I °l
L J
L s skl ol @ slu W cdlal "very well" Ll Lidcal Lesie 5 4lai€a alea 08 > | knew her very well /JGe ]
| ]
| (e eliaiuY) WiSa)) ali o < gl ity 5 Casla 4 > (very well) 1) |
| |
W 2. Complement of Subject +BE Il
I |
i e.g. That’s all right. -
L, s
. I
l d
H |
I a.allia.n a i ® Il
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Aleal) e JLSY 4y )5y 14 glsl) Jad g Jolill Alage-?
That is all right = That’s all right /Jts
AleSa ga CB ) a5 iyl s > all right el Jad s 5 Jadll > s iziall > That
3. Direct Object
e.g. They didn’t tell me why.
1) J prdal)-3
They didn’t tell me this : J &l WS ¥ > They didn’t tell me why /Jbs
Indirect Object > me Direct Object > this ;oY
They didn’t tell to me : Js8ll Li€ay (<1
They didn’t tell me why
(tell) J=dll " Jilw e J =i — Indirect Object " > me
(tell) =l " ilw J 280 — Direct Object " > why
4. Modifier

Adverbs can modify nouns, adjectives, prepositions and adverbs.

oA sl 5o ol Jlalle claallc slawd) Jaad o eiSa JIsaY) 13-4
NP > nearby hotel /1

NP Ul (il 58 5 N > hotel

ol ) Jaedl 8 5 ok ol Jla > nearby

NP > way ahead /2

NP U il a5 N > way

ol gandll Jadl g8 5 ol f Js > ahead
438ag 3 e > completely new /3

(Al 3 jle) & 5 jlall Gl 5 8 5 4ia > new
o ) Jaedl 85l o Jis > completely
43iua g 3 e > quick enough /4

(Aeall 3 ke ) Lba gl 5 lall s 5 4iia >quick

u.u\‘)ﬂ ‘_5.\:.9}\ Jadl g4 5k }i Ja > enough

a.allia.n a. <y ©
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H 43 )k 3 be > very often /5 H
oIl a5l Js > often
| Sl Jaedll 8 5 il i Jla > very s
4 )k 3 e > quickly enough /6
H Gl W sa 5 Gkl s > quickly H
gl Judll 8 5 iyl ol Ja > enough
= 294 5 U 3 ks > directly through /7 3

oIl 5 5555 5 s > through

L Ll Jand) a5 oyl S Js > directly ]

Exercise

3. He told him when to come.

3 Identify the function of each of the underlined adverbials. P
U% a. adjunct b. complement c. object d. modifier H
l J
| 1. Are you absolutely sure? Il
I I
| . d
! ol e g 4da > sure r
| A
: Ssure” ol 8 Jaes g8 ik ) Ja > absolutely >
| |
| .. " "o ves a4 Il
: d. modifier : s <l gall 13) daall Jas 4 " absolutely” 4S8 ¢ Are you sure? : Jsall LiSay :
| |
| 2. The child followed his father very closely. ]
| |
| |
} aie Liu¥l (Sa 5 &6 4 > very closely ]
| °f
| . .o Jl
| a. adjunct : s il ) caraaida g 5 oecaylarsa 1) 9
|

|

1

| . .

: J=8 > told Jeli > He :
| |
w c. object 1sa sl 1) il 43 J 20 > when il e 43 Js2ie > him J
| |
| |
| 4. The show ended very quickly. H
[ . ]
i 4 a3 le & > very quickly i
;% Gl U 8 Jama a5 <oyl ol Js > very il a5kl ol Js > quickly ;‘
I d. modifier : s <l sall i3] }
\ |
|
I |
I a.allia.n a i ® Il



H 5. It was all right. H
| ; |
i il > It *
% k;_u\.ms.” J=all sa 5 450Kl J28 > was B
L b :sa sl 1 (ALa) o Lia A0 dida s T3 ¢ Aleall ine JeSy 585 ik > all right d
% complement B
[ — il el e A sl & jladl — g paall gl @i e ) 08 aal e ¢ gSin b pdlall 5 pdalaall Ek* ]
| ( ) bl — Lpaua) ) snd |

LecturelO

[ Basic Types of Clause Structure I

* Only the composition of the VP changes in each type.

|

1

| Basic Types of Clause Structure: o
| |
| |
1 ¢ In making up a one-clause sentence in English, we have a choice of five basic clause jo
} structure types in which all the elements are necessary. }
| |
| |
| * These basic types can be expanded with other optional elements like adjuncts and }
1 modifiers. ]
| I
| |
; * Each of these five types follows the basic pattern: Subject (NP) + Predicate (VP). ;
| q
| |
‘ ¢ In each type, the subject will normally come first and is the followed by a verb phrase. &
|

|

|

1

1 rAlaad) gl 5 bl el L) ) 53Y) ]
| |
: : Pl
i A jlaad) 03¢ sl Ll daliig 5 ¢ saal 55 5ke (A cbllal L) g Aay daa (8 Adage &l jle 28l [
I A
| . . . . . © . IR J
f’ Canal ol aadatid 5 Ay 5yl Aalll 8 (one clause sentence -saal s 3 ke ) el daulul 35k 5 Lual 13- H
r A g paliall sda « (';@J yralinll (any ‘T
1% s palic Glaeldll sda (e JS 5 (clause — 4lex 515 ke ) el Al o) 5 e il LA 5 Ll T U
| |
| l
|
H |
I a.allia.n a i ® Il



H O USI LS 5 i) jualie 535 e jealic L 3 ¢(clauses — < jlall) o3 g si Ul (Saall (hon H
I (subject — il sf Jelall) :Jie 4y 55 pall jualiall (any 5 o¥3nall 5 ol sill ;A LAY jualinll 038 (jan [
| Y3l 5 ol S Ll jualinll yamy Al (Sl (308 5 Lol dpussd 5208 Lal S 13 T3] cale&all 5 Jadll |
I Ansi i llaa] ]
| : ) |
i AU ) Jaadll aii Asadl) £) 930 238 (ha SS- i

Subject (NP) + Predicate (VP)

L e liacale&dl [fie L (s AT pualic e e 4 game e (s 5ims o (Sl (30 " Predicate”™ ) b ]
I Al (S 5 dalad 5l o 25 a5 Auladl il of ) (e (i) S Jelil) ¢ g5 o3 (g S i J
L 5 uabaall e b L yain dals Yl ]
l J
| OSV 5 iy Y s LS iy Jelild « Auadl) £ Y1 o3 (g g 53 US (A Aladll 3 laal) S i 58 L uay (53 Il
| el 5 el g8 i 53 sl |
| |
i ¢ The VP may contain the following elements: I
H +rmay contain. [

1. Intransitive Verb (abbreviated as Vi)

b 2. Transitive Verb (abbreviated as Vt) s
H 3. BE or another Copula H
I ]
I |
I J
i 4. Complement (abbreviated as C), which includes: }

a. Noun Phrase (abbreviated as NP)

l

:

l

[

i% b. Adjective Phrase (abbreviated as Adj) :
A J
] c. Adverbial (abbreviated as Adv) ]
| |
L J
I 5. Direct Object (abbreviated as dO) )
‘o é"o
| |
f’ 6. Indirect Object (abbreviated as iO) }
% s "y ]
:% M\BJ\AA\MW@JM#\F@\@D%DE>:@m\ﬁm‘u}ﬁ‘g#dﬁw‘sJ@ﬂ- é’:o
j .
L, (Vi) p3¥ Jai1
i% @al- Monotransitive) ¢ (Js»ial L - Ditransitive) : o sill DS Jaiii lia > (V) gaia Jad-2 i
:% e 4l 545 Jad heen" (is, are, was, were) 4 gl Judi-3 (Js2sdl) :
:% > (4ha g kil Jad -Copula) I o "Non-finite verb-2s« :
l

He is here /Jta

I . . .

;% 4da 5l Jis > here J=é > is Jeld > He ;‘
} (4= 5 ki y Jed -Copula) =i o2 > " here" diall ol Jually " He" Jeldl) Loy 5 " " 4l }
\ |
i .(have) 2= (been) pxdiuiv g gsana je A5 gl (28 muaiud (have) = 40 5l Jad (G Lavie (Sl }
[ il A 5 daladll Ao sanall b Lgiilia) WiSay juaic & 5 (C) AlaSall-4 H
|
I |
I a.allia.na i ® Il



I LS (e o 5 > dan¥) 5 5Ll NP - i
U (Al 5 jle) Laa 5 )lall Adj -2 H
L 4kl s el Ady - Jl
L (dO) séball Jpiall-5 Jl
s (i0) silsa il J g2dall-6 A
H ¢ The following table shows the five basic types of clause structure in English: H
l : J\
i 2l ARl 8 (clause-3_ball) el duadll g1 1 Wl jedad Il J saal) I
| |
‘T Type Structure of VP Examples H
i 1 Vi a.__ | a. We waited. 5
I |
“"% b.C b. We sat down. H
\0\% (Adv) H
\0\% 2 BE+C a. NP | a. He was my friend. H
‘o‘% b. Adj | b. He was intelligent. H
‘o‘% c.Adv | c. He was in my class. H
‘o‘% 3 Vt+dO + a.___ | a.l made a mistake. H
o‘% b.C b. | put the key in the lock. ‘
l (Adv) d
U% 4 Vt +i0 +dO a. (to) | a.lgave him an answer. H
U% b. (for) | b. He made me a suit. H
U% 5 Vt +dO +C a.NP | a.lfound him a bore. H
U% b. Adj | b.|found him boring. H
L [Vi] :ds¥) £ sil-1 !
H clila) gen> S+ Vil }
Il |
L J
| Jel S We < We waited |
- b
IL . J
ﬂo a ¥ Jad Vi : waited Il
i A
. L=l > S+ Vi+C (Adv) fo 5
b J
I , I
Hoo JeBS : We < We sat down :
i Pl
I as¥ J28 Vi : waited ]
Il |
i3 . . - -
i Jeld) 5 Jaill Al o Ua 4t g5 iyl Adv : down |
2 I
Il sy T w . J
}T Glilsls Lailiila >>>  [BE + C] (4 £ oill-2 }
§ = ]
H% S +Be +C (NP) /i s;o
b J
I R °l
ﬁ% Je S : He < He was my friend ;‘
H L5is Jad Be : was 1
| |
}T Jeldll 5 Jadll AlaSa o Us 3k o 5 daml 3 NP : my friend Il
I |
ﬂ% S+ Be + C (Adj) /< }
| l
|
I |
I a.allia.na i ® Il



H Jeld S : He < He was intelligent H
| e s ]
I A4S J28 Be : was i
ﬂ% Jeldl 5 Jaill dlasa & Ua Lgiada 59 4da Adj : intelligent H
l S +Be +C (Adv) /= d
I |
H Jeld S : He < He was in my class H
l J
| 4gis J2b Be : was Tl
| . " e , 1
‘T AlaSa o L Lgidda g i phh ) o5 Ll U SO LS 5 953w 9 S 5 Adv (PP) : in my class H
ﬂ% Jeldll 5 Jadll é’ﬂ
3 dO 3l Jsrie + Vi sxie Js28e >>> [Vt +dO] &8l £ 4ill-3 S
i @lilal su > S+Vt+do /i .
I Jeld S : | < made a mistake Jl
l J
| (Monotransitive verb — Jssiall (galal (gaxia Jad)  (g2%a Jad Vit : made I
I . . ]
I il Jg2da dO : @ mistake i

Gl >>> S+ Vt+dO + C (Adv) -«

101% Jel's | < | put the key in the lock U
‘ |
1 (Monotransitive verb — Jssiall galal gasia (i) saia Jad Vit : put 1
| |
} ke Jgaia dO : the key ;
Alaga o L gl gy il 0 5S3 Lesh U S LS 5 g9 9 s 3 e Adv (PP) : in the lock A
i clilal Wil >>> [Vt +0 +d0] ) £ 5ill-4 i
| o
io S+Vt+i0+dO + (to) /i i
‘ |
1 Je S : | < |gave him an answer 1
| |
; (Ditrnsitive verb — J ssiall S (gaxia Jad)  gada Jad Vi igave ;
Kl & Js2da iO : him i
1

1

Kl J g2da dO : @ mistake

\% F(to) plaaly AT g, Aleall delua cSat [
| |
‘ |
\ - e BV bl Jgmiall il o gSadl (e 4 Laadl aleal) Aelya sale) e > | gave an answer to him I
L Abe sl Jsadall & (e (o) i
| |
i S+Vt+i0 +dO + (for) -< }
| ]
I ]
I |
Ho a.allia.n a8y © OH



Jel'S :He < He made me a suit
(Ditrnsitive verb — Jsxidl AU gaaia Jad)  giaZa J28 Vi : made
Sl & J$24a O me
il Jgda dO : a suit
: (for) aladialy AT JSdy dlaal) A8 lua (Sar*

- aa Vsl bl Jgmaall il o (el (o 4l Jaa U Aleall d2la 3] (0 > He made a suit for me
e Ll J il &5 e 5 (for)

Al o (sging o g lin > (alSa + e Jgria +gaaie Ja8) > [VE +dO +C] 1l £ 4ill5

S+Vt+dO +C(NP)/l
Jel s : | <|found him a bore
(Monotransitive verb — Jssiall alal (saia Jad)  gaia J2b Vi :found
KA Jgda dO : him
adasa . Lia Lgiada s s NP @ a bore

IS 4l) & s inalld calliay) o) pall il (e s 0¥ Alaall g3 o3 L (] found him) Jsil) LSy Y*
(8 i) @y o ey 5 ol adl ) s allay) ol el Y A I3 g (aaa 5 & ey aila

S+ Vt+dO + C (Adj) -«
Jes: < |found him boring
(Monotransitive verb — Jyiall salal saxia Jad)  (gaia Jad Vt :found
K Jg2ia dO :him
adlasa & La Wgiada g5 Adj : boring

¢ As we mentioned at the beginning of the lecture, each of these types can be expanded

with optional elements like adjunct and modifiers.

For example, we can expand the first sentence in Type 1 as follows:
We waited. (Type 1)

We waited in the car. (Type 1 + Adjunct)

L) ealic A (e < 1l o Saall o 151 038 e g 53 S €5 pualaal b (e U S0 LS ¥
(Yaxd) 5 gl i) S

(IS I g il 8 (A5 Aaad) aann 5 (Raall (ga /e

(JsY g5 ) > We waited

a.allia.n a. <y ©



I ALY 038 d5a 5 agall e ol OS5 Alaal) g i Lin > (@i + J5Y) g sl ) > We waited in the car I
| |
‘T ¢ Simple sentences have only one clause. They can be expanded even more by combining H
ﬂ% them with other clauses as we will see when we discuss compound and complex sentences. H

&L:g)d)iwda.;.“ XYY @u}EUSA.A\ %) c(onedause—kﬁé‘éh\}};)\__m)écg;ﬂﬂw\ Jaadl*

ﬂ% [l Lpansy <l Ll Jay y ODA (e A8 5all 5 nall Jead) Al W (Saall (o 131 ] 5 AT il jlmy (iany H
ﬂ% daall e c¥ardl 5 aol il Al (Saall o o(add Aagsd) Jaall 8 Guaiie LelS Tad W83 3l @l ) H
i 3aiaall 5 A all Jaall Linal ()5S S ddapadl Aleall o 3k (e SISl o jle Aila) Lol 5 Aasead) il

¢ Be careful not to confuse these five types of basic clause structure with the five types of

ﬂ% complex verbal groups that we discussed in Lecture 5. H
l (complex — sainall) Leadll #1581 55 inlacall 038 (8 o Ll elid Tanlo 1 Hosal £ 1581 (s | shasilis Y ]
L  walal) § pcalaally > Auladl) de yaaall J
| | made a mistake — We sat down - We waited < (33a)53 e o (g siad) das dlaa /JG* Jl
U |
| | can make a mistake — We can set down - We < (s2a)53 ke e (5 5ia3) complex - 33ize dlas J|
I can Waite I
l J
‘T ¢ Producing “good grammar” is often a question of fitting a verb into the basic type or types H
H appropriate to it. H
I ‘ o ‘ ; ) ) |
ﬂ% gl Jala sl sl g il Jals Jadll Candis Allise Jlie V) G 391 Comy Ll (o 45 9 520 ) Ly H
i Jadl) Gl S jaall il
i A
H% For example, the verb “tell” can fit into basic type 3, as seen in the first example below; and :
| |
1"% it can also fit into basic type 4, as seen in the second example below. 5
IL J
I I
H% e.g. 1.He told the truth. (Type 3) :
L J
U% e.g. 2.He told me the truth. (Type 4) }
Il |
i - o ‘ E
I Loail (Saall (ga 5 JauL JY1 Jadl 3 daadle sa LS ¢ ol Gl & gill e canliy 438 " te|™ Jadl) /e * |
I : il S U 8 a0 8 LS ¢ ms) gl ) g sl e candliy ]
I I
s : . . . B
H° (Jsnsall galal gania Jad ola " told" J=dll La ) QMU ¢ ¢l > He told the truth -1 ;
I’ A
L . J
¥ Jls > He -
IL J
I . X I
L (Monotransitive verb — Jssiall (salal (gasie Jad)  (s2a%a Ja2 V> told 5
L J
L e Jg2da dO > the truth ]
Il |
L, s
I Ditrnsitive — Jsriall AU gaaia Jad ela " told" J=dll s ) ail ) & 53l > He told me the truth -2 |
i (verb |
| |
ﬂ° Jeds > He Il
I o . . |
ﬂ% (Ditrnsitive verb — J s=idl (A (ga23e Jad)  (sa2da J28 VE > told i
| |
I 3
H |
I a.allia.na i ® Il
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sl £ J9284 0 > me
Sl J2da dO > the truth

On the other hand, the verb “explain” can only fit into basic type 3, but not basic type 4. For
example:

e.g. 1. He explained the answer. (Type 3)

e.g. 2.INCORRECT: He explained me the answer. (Type 4 is not possible with the verb
“explain”)

6@.&\.&“}“ @\J&\ &}.\3\ & i Y oSl “;u.l.m‘xf\ i) t}d\ & iy 38 "explain” Jaall ‘LS,)ii daali e
s s e

ks GGl ¢ ¢ill > He explained the answer

JUs >He

(Monotransitive verb — Jssiall (saal (sasia (i) ga2ia J2b Vit > explained
il J2da dO > the answer

Odsxia 33 of (K0 Y "explained" =il (¥ > He explained me the answer :J s hblall cue*

Exercise.

Which of the underlined elements is NOT a necessary element of the following clauses? If all

elements are necessary, then choose “d”.
a. (1) b. (2) c. (3) d. all elements are necessary

1. He was in my home yesterday.

(1) (2) (3)
(d28) Adaall (& 5 )5 00 > was
C.(3): 5o sl 1Y) )
\——=) Al & s )5 02> inmy home

¢ LS 54 5 syl > yesterday

2.Maha is agood student.

a.allia.n a. <8 ©
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1) (2) (3)
(subject -Ixis) aall 8 (5 )5 2 > Maha
d. all elements are necessary : s& wlsall 13) - .
(=) aall (8 5 )5 00> s
(S oa Y aaa 5 ke ) Aaall & (5,5 2 > a good student

3. The angry man waited impatiently.

1) @ 6

("man" < Aiza @ -43.4) é)\:\ﬁi\ > angry
a. (1) 1 s clsall 1y
(subject -deld) dlaall b (555 2 > man

(J28) sl & (5 )5 2 > waited

Exercise.

Identify the basic clause structure type for each of the following simple sentences.

a.BE+C b. Vt+ dO c. Vt +i0 +dO d. Vt +dO +C

1. Faisal wrote a book.
Jelés > Faisal
b- VtrdO: » g'_’\#‘ b tragsitive verb—d siall galal (saxie Jad) gmia J2d VE > wrote
Hilsa J 2da dO > a book
2. He is a good writer.
) JUs >He
a.BE+C: s sl 1y i )
Ll Jad V (BE) > is
4laga A gdda C (Adj) > a good writer
3. He gave me the book.
JUs >He
€.Vt +i0 +d0 © s il sall T3l 1sitive verb — Jsxdd) S5 g2t Jad) - g2aia Jad VE > gave

w2 J9284i0 > me

a.allia.n a. <8 ©



il Js2da dO > the book

4. | found the book interesting.
Jolds > |
4 VE4d0 +C: U‘)ﬂ‘ iy trarfsitive verb—J sl (saal (saaie Jad)  (gaaia Jad Vi > found
il Js2da dO > the book
alia A 9 4da C (Ad)) > interesting

5.The book is in my library.

Jel's > The book
a.BE+C: s Slsall 1y 45538 b V (BE) > is
AlaSa & gl gl Ja € (Adv) > in my library

Adv (P.P)

Variations of Basic Clause Structure
Types

Variations of Basic Clause Structure Types:

Common Variations of Basic Clause Structure Types..

rAlaad) i 3 bl Aulu) s L) £) 63 i sl
ALl g B lall Apalay) s Uil £ o3 dadlil) sty

1. In type 1, “there” can be used as an introductory subject.
e.g. Three exceptions exist. (Type 1)
There are three exceptions. (Variation of type 1 using introductory “there”)

*The pattern in this example is: There +BE + Subject

radiia 1€ 203 8 "there" 4alS J Y1 g sill i1

Three exceptions exist /JGa

(S + Vi) ds¥l g 5l

deld -S{ Three exceptions
Vi > exist

a.alli a.n a.<8 ©



I There are three exceptions I
I ; ]
i e T . ‘ g o e — i > 5
L ( #3850 1Xie — introductory subject) 25> 5 Js¥) g Sl il introductory subject) > There Jl
- There" 2. platiudy 45K J=d V (BE) > are b
b late subjedt (S) salie 15w > three exceptions Pl
L There +BE + Subject : & "Gladl™ Jiall 1gd Jaaili* )l
! |
H° 2. “There” can also be used as an introductory subject in a variation of type 2. °H
| |
‘T e.g. Some books are on the shelf. (Type 2) H

There are some books on the shelf. (Variation of type 2 using introductory “there”)

e.g. Mohammed is here. (Type 2c) |
Here is Mohammed. (Variation of type 2c) ]

* There are other variations that we will not discuss here.

U% r e il ) L asie (xS a0add 3 "There"ial-2 H
i1 Some books are on the shelf /J&s B
Jelé -S > Some books
(S+BE+C) S g 5 4sS Jr8 V (BE) > are
H S & 5 <k sl Ja € (Adv) > on the shelf H
f . .
H There are some books on the shelf U
\ -
i ( iie I — introductory subject) 3sas Sl ¢ sl ) \sfe — introductory subject) > There i
; " There" 44l alasiuly 458 J=a V (BE) > are ;
| I
; late subject (S) JAlis lxin > some books ;
aliSe 4 5k ol Js C (Adv) > on the shelf %
i“” Adv (P.P)
i J
i 3. Type 2c, can be reversed when the adverb is “here’ or “there”. }
|

1

1

1

1

1

] "here" el aal s Cilll o Jall 1 )5S Latie Jlall gSa Jelill 5 Jelill e Jlall Jladind (Sadl (e ]
. "there"

Mohammed is here /Jtia J
\ i
| faie -S > Mohammed }
\ ; OH
L Adv s C sSs of (Saall e 5 (S + BE + C) S ¢ il :
| i
Ho a.alli a.n a.<8 © OH



L€ J=8 V (BE) >is
alSe 4 5ash ol Js C (Adv) > here
Here is Mohammed

( »3%is i — introductory subject) > Here
(g8 1xise — introductory subject) 2sas S g sll il ) . |
"Here " 4l aladinly 4518 Jad V (BE) >is

late gubject (S) Al 1 > Mohammed

ecturell

Coordination
Coordination: Cdlaal)
In the previous lecture, we discussed the five basic types of clause structure.

Each part of the structure of a clause can be duplicated (doubled) or added to by

Coordination. For example, the subject is duplicated in the following sentence:
Mohammed and | are good friends.

The two parts of the subject in the previous sentence are joined by the conjunction “and”.

Conjunctions are words like “and,” “or,” and “but” which we use to connect grammatical
units/elements in a sentence.

¢ If we combine more than two parts, we usually separate the parts by commas, using the
conjunction to join the last two parts only.

e.g. Mohammed, Ahmed and | are good friends.

Alaadl ol 5Ll el dsadd) Bpulul) #1531 (e Uhand 480l 3 jualall 3

a.allia.n a. <8 ©
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I Al Alan) el ailia 55 o f (ELA) 4381t (585 o (Saal) (o Alanl ol 3 Jall ol e 5 IS i
H Al Alaal) meaatl 43LaY) ol dacliaall o Lgiids b ¥l 5 ol il Jla Lella a2 (AB0GA) (Gaeail) 130 H
“ IS ¢ Jelall die L aadatos 38 /Slie- H
H Mohammed and | are good friends H
I (and) Calae Gy a5 Uay 46l Aleal) 3 o Sladll S ]
H Alaall 8 b jualic sl 4 gaill Cilaa gl Jay ) Lgaadins 3l 5 and, but, or e Calasll Cag pa H
i (1 -Mohammed) L ¢yl ya Likay ) Gilad) JUiall - I
l Lo o sl 3aY) il (ALaldl)) aadio ol a ga ST a5 of L i 13) oS5 Jl
I i (ol AT ey ) ]
H Mohammed, Ahmed and | are good friends /e H
: (Alald) s Laalilad ol 3o Ul I
l (Caidae Gaja) o Laalihy ) ol AT J

H (and) s& cilaall Ca ja- H

Types of conjunctions: |

1. Coordinating Conjunctions (coordinators) .
These are single-word conjunction, including: “and,” “but” and “or.” i
e.g. | want Ahmed and Saleh to come see me. j
e.g. | want Ahmed or Saleh to come see me. ?

e.g. | want Ahmed but not Saleh to come see me.

silaall Cig g £) gl )

]
(Osbsiall) & oo 2 >> 1(Agpeaiill) Kbuial) Cibaal) iy a1 |
i

r ) el 5 jiie S a T3] (53 4d10) Basl 5 AalS () 55 08 Calaall g s

I

|
L 5
Lry °°
t | !
| a.allia.n a. <8 © H
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and, but, or

| want Ahmed and Saleh to come see me /J%s

Les L3S Ahmed s Saleh i 3l lalixs L > and

| want Ahmed or Saleh to come see me

(Legie 3a5) Laid Ahmed sl Saleh i 5l Wlisa la > or
| want Ahmed but not Saleh to come see me

Saleh L x5 s Ahmed Casiin) 3l lalins Ua > byt

2. Correlative Coordinating Conjunctions

These are pairs of words, including: “both... and...,

only... but also...”

” u ” u

either... or...,” neither... nor...,” “not

e.g. | want both Ahmed and Saleh to come see me.

e.g. | want either Ahmed or Saleh to come see me.

e.g.l want neither Ahmed nor Saleh to come see me.

e.g. | want not only Ahmed but also Saleh to come see me.

a.allia.n a. <8 ©

¢ (Aday)_siall) A el (Aghsaaill) Abeaiall Cibaad) g s -2
) ot o( Sl e )5 3f) A s DS e 3 ke (A
both... and...,

either... or...,

neither... nor...,

not only... but also...

e Joll) pae 5 LS A 530 Aaa Sl g /U

| want both Ahmed and Saleh to come see me
(b’ > and &= either « ila > and g« both

| want either Ahmed or Saleh to come see me
(sb& > or e both « ila > or g« either

| want neither Ahmed nor Saleh to come see me
ila > nor &= neither

| want not only Ahmed but also Saleh to come see me

[T

o o o o o o o o
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% % 9% % 9% % 9
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—iba > but also &= only
3. Subordinating Conjunctions (subordinators)
4. Correlative Subordinating Conjunctions

We will talk more about the last two types when we discuss Subordination in Lectures 12
and 13.

(Aaiadal) Aaald cilall g a-3

13,12J\3)¢L;A\‘;éea)ssscb ‘){‘,2, “(*”.:;“) aatl Gl N Gigand

Exercise.

Choose the type of conjunction in the sentences below:
a. Coordinating Conjunction

b. Correlative Coordinating Conjunction

1. My brother and sister wer < a—Coordinating Conjunction s Jal
2. They are both polite and f <+— - Correlative Coordinating Conjunction s Jal
3. I not only like swimming b <«——b-Correlative Coordinating Conjunction s Jal
4. | like swimming but not di < a. Coordinating Conjunction s Jall

We can compound/coordinate any level of constituents (grammatical units) - words, phrases
and clauses.

cden e le ¢ S S(agai las g (5l) S (e (s sina (g G 5 S i LiSa
.( constituents — &;}U}SAM) (anal (JA;U gl lall C_aLdSS\) PSRN
¢ Coordination of Words

Coordination can link two or more words of the same word class as in the following

examples:

Nouns:

e.g. Football and basketball are my favorite sports.
Adjectives:

e.g. My friend Khaled is funny and intelligent.
Adverbs:

e.g. We must finish our work both quickly and efficiently.

a.alli a.n a.<8 ©
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2 6 T eg T T eg T o) e e e e e e e

- - o

rclalsl) G-
SIS AN A i e STl italS Ly ) aalaid i)

a1
Football and basketball are my favorite sports /Jts

a > football

_(and) Garuiall Calaall (s len) il
basketball

:3.&4-2
My friend Khaled is funny and intelligent /Jts
4da > funny

(and) Guiall Calasl) o jay (bl Uil
intelligent

i gl i3

We must finish our work both quickly and efficiently /J%

J= >quickly
.(bOth - and) e)m LBA.L’« abe (o J\P‘Y\ Lidl
’ efficiently

¢ Coordination of Phrases

Two or more phrases of the same type can also be linked together through coordination as

in the following examples:
Noun Phrases
e.g. The old man and the young boy crossed the street.
Verb Phrases:
e.g. Many of the grammatical terms must be studied and will come in the exam.
Adjective phrases:
e.g. The topics are very interesting and really useful.
Adverbials:
e.g. You can wash your clothes by hand or in the washing machine
i jled) adie
S cCabaall oy pa VA (e lra g sill A3 i (g ST ol (8 e day ) aodaios Lal i)

el B le-1

a.alli a.n a.<8 ©
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H The old man and the young boy crossed the street /Jts H
(old) (<18 18 Jxxs > The
I Land B e I man) &_ball il > old -
(old) U axs Ja2e > man
H (<ibae s a) Ly 3l > and H
(yofing ) iUl L8 Jaxe > the
| el e boy) 3_tsll (i ) > young I

(youhg ) il (s2xs Jaxe > boy

L tlad 5 -2 I
I |
I Many of the grammatical terms must be studied and will come in the exam /Jtis I
I |
I |
I |
| |
. (must be studied) < 33ixe dlad dlaa Ua Lpal* i
L Type 1 > Modal +Infinitive > must be )l
I |
I Modal > must ]
I

|

Infinitive > be b

Type 4 > BE +Past Participle > be studied
BE > be J
Past Participle > studied )

(<alac o n) Jayy 318 > and ‘

(will come) < A} baina 4dad dlay Ua Loyl Lt &

" passive voice" Type 1 > Modal +Infinitive > will come

Modal > will :

J

Infinitive > come 1

\ |
i (and) st 5 cilae Caja Laalihay ) (pfidins Gled (yic gane Lpal Lia 13) *
% Adiay b le-3 U

The topics are very interesting and really useful /Js

I a.allia.n a i ® Il
: .



H (very interesting) : (& 9% Lduagll 5 jLali H
‘T’ "intereqting" diall 18 Jaa &5 sk S Js > very H
I Lhays e

44 > interesting

U% (b b n) Loy 3l > and OH

H (really useful) : & AUl dhua gl 3 Lali H
ﬂ% "usdful" diall L8 Jaea &5k Js > really H
n: thesihe , ‘;ﬂ
‘T 44a > yseful H
(and) sas Cilae Cayay Laalilay ) (yiidine (piifia s (o Jle Lual Lia 13 *
U% a;‘é.)z 3 ke-3 °H
H You can wash your clothes by hand or in the washing machine /Jts H
ﬂ% (by hand) : & As¥) b RY 5 jLali H
‘o‘% A A > by ‘?ﬂ
H Jsoae s s le

4l 3 e > hand °U

l (ke i) by sl > or I

i (in the washing machine) : (& 4Gl 438 1l 5 jLati* ]

o <is>in )
s s Jla s le i
4aaul 3 e > the washing machine ]

Olibe L 13 e s e ¢psS Dsoaad) 5 el s e o A LSI LS 5 5 5ma 5 Jla ke LaadS ™ >
(or) st cihe oy Laalibay ) (lisiae Glid )l s

I a.allia.na i ® Il
: .
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Compound Sentences

1S jall Jaal)
¢ Coordination of Clauses

A compound sentence has two or more clauses which are linked by a coordinator.

148 el Jaal)
1daal) (e
Bine — A€y — Aoy 1055 38 Alaall Gf Ay 5l 5y all 028 Aglay 3 L S5 LeS*

aibaal) Cig pa Aand 53 pgday )y oy ST Sl (58 1 o8 A8 all Aenll

¢ All of the clauses in compound sentences are coordinate. In other words, they are of equal
rank. None of them are dependent on (part of) another clause. They are all independent

clauses.
(O siluia agriand B 5l (5 ol S 1Y ol Aalih s S 5a) Jeall 8 "clauses -Jeall— o jallt Js*
J(equal rank-a; sbuia agifihe) LS el Jaadl 8 il gaes s Al B e
(AT 858 On e Ja o) AT 8 (e dpaldie) 0585l il o3 (e 8 Y 5t

(AT e o Aaie VI (50 (e AR e (0585 L () Alina <) 88 ) 5S35 ol a1 032 apan®

The following are examples of compound sentences:
S all Jaal) oo Al 0o B ke Ul
e.g. 1. Everyone was in the room and the doors had been closed.
¥ 5 8l > Everyone was in the room
4080 5_adl > the doors had been closed
(and) a5 "ilae Cia" Jay haly i Ly ) i

e.g. 2. Everyone was in the room, the doors had been closed and latecomers had to wait
outside.

¥ 5 3l > Everyone was in the room

404l 5 yall > the doors had been closed

a.alli a.n a.<8 ©
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ﬂ% 4l 5 w8l > |atecomers had to wait outside H
I ; ‘ ]
I @@\Eﬂ\&é;ﬁ\ﬁjﬂhﬁ'eij(and)‘;a)"ular_' q);".kg)s\agm@lj@@\};ﬂ\kg)é* B

e.g. 3. Some students didn’t do the homework and the teacher knew, but he didn’t say

‘T anything. H
% s 5l > Some students didn’t do the homework &
l 458l 5_adll > the teacher knew ]
l J\
L 44 5 &l > he didn’t say anything |
l : ‘ J\
i L 5 V) 5 jaall Uiy ) g (Alald) s 48 s0sn (but) oo s "cilae Ca " Jay y slaly LN 5 Aalil 5 ) oy , a3 il
‘T 58l () sa ) (but) Calaall s J8 Alald 3 ga g s Laadi> (and) b "cabe (o a" oy slaly Ll H
I il U ALalall 3 g sh e B 5 31 Cp a5 Adie copla Ui A I
l J
‘T e.g. 4. Either he didn’t bring the book, or someone took it from him. H

&Y 58l > he didn’t bring the book

e.g. 7. He may have received the letter but (he may have) forgotten to reply.

Ly 4l 3 8l > someone took it from him Pl
i O Lo Uit Al 35 ¢ ALality 38 guana (Or) b s "alae iy day y 5laly Al 590 8 il Ly o5 Il
| L ALoalall 3 g5 s ) @il ) il Tl Ui ALealill g g8 " G 3RS I 4 JLidY) daai Lagd (pitlaal |
L causes a5 cudl” 8 1ginal U Claclill 4 13a s = 91 Aleall By & " Either” 4aS 25a 5 5 ]
Il PR |
H% (=) 5 "and effects- :
L J
U% e.g. 5. I'm selling my car and (I’'m) buying a new one. }
Il |
s . Pl
I Ss¥1 3,8l > I’'m selling my car ]
i I
L . . gt e s , _ J
}T O sdl) G Lo ads (Sl (e = 48N 3 &) > (I’m) buying a new one )
i A
Il "o B n MRS - J
ﬂo (and)k";h} k_QLG&J); Lg)a‘d\gu;\.\)sss\kg)e.v* 0}0
" A
H% e.g. 6. Mohammed is going on a trip for a few days, but (he) will be back before Saturday. :
L, s
U% ¥ 58l > Mohammed is going on a trip for a few days 1
Il |
L J
I Ol O Le i oSaal) (e = 48l 3,8l > (he) will be back before Saturday !
2 I
Il n - . n ot TR - °L
I . (but) &5 "calae o Loy Blaly (g ) Loy 3% ¥
‘o‘%

b

L

Il R .

L S5 38l > He may have received the letter d
l |
! O sl Lo Gada (Saall (e = 48U 3 5880 > (he may have) forgotten to reply |
l |
i . (but) &5 "alae Caa" Ly ) Bl (8l day ) o5 ]
u, OU
|
I |
I a.allia.n a i ® Il



H ¢ As seen in examples 5, 6 and 7, when the subjects of the two clauses refer to the same H
H person or thing, the second subject can be deleted. We can also delete the second verbal H
L group if it is the same. Jl
l ; J
U Jaill 5 (sl Qi e () gay UK I3 A0 5 )51 e agddad o (Saall (pad <l jaill & Jadll 5 Jeldl) S5 13% H
Uo Ofilaall DT el H
I . . . |
£ . . - o e M e - . RN E .3 8o
H = J.u.d\ L}A;)S\J.Lc ‘)‘5.1533\ \)]Luu u\ 3alall 024 \jh\ ‘_;j\ A_AH\UA‘:AA.\\ H
‘ ™ . - - s - .8 wano 4 . R . ‘
5 dS.u,\‘uJLch‘fY6}453Jdu)o‘):\;‘ﬁ\ﬂu\21\a&‘§dmul\J};}L._\,w Pl
I (Z) 5 38l a1 Hliad ae 283 sea 2815 SLE a2 g2 9 a5 |

U; Exercise. ;U

Decide whether the following sentences are:
H a. simple sentences b. compound sentences H
1. My neighbor and his family are going on a trip.
(they) 4dSs JSS Jeldl) Jladul (Saall (1
aaly Jeld Ll "they" = " My neighbor and his family" o !
ﬁ% aaly J=8 > going 1

they are going on a trip : J s |

IL

I

IL

I

IL

ﬂo

i a. simple sentences : OsSes @lsadd aaly Jad 5 2al 5 Jeli* i
T i
L, 5
J
I i
H% 2. My neighbor is going on a trip but his family are not going with him. :
L, 5
U% &s¥) 38l > My neighbor is going on a trip }
Il |
L, s
I 438 5 3dll > his family are not going with him }
‘0‘0 é)‘o
L, - : . . . o LN s
ﬂ" Jelé his family JJ&db = Jeld My neighbor : ba Laa3l !
i A
i 2elus J=8 gre = aelua J=é s s
L s
I . . s Il
;(J% J=é not going = J=é going “
\ \
! "but" st (<abe Coja) dayy sl ks je (58 Lual Ua 1)) 2 e ST 5 Jeld e jiST* |
L b. compound sentences : s <l sall ) Spuid ]
Il |
L, s
I 3. Either | lost my wallet or someone stole it. |
i I
b < J
W Ss¥) 58l > | lost my wallet H
I |
H |
Ho a.alli a.n a.<8 © OH



H 40l 5 3l > someone stole it H
Jeld someone Jiaaly = Jeld | 1 Lia Laa3l
- J=i stole = J=d Lost s
“ "or" s s (cilae aa) day ) sl ikt ye LR Ll U T3 Jad (g ST 5 Jeli g SI* H
1y b. compound sentences : s i sall () 5Sed L
4. The wallet was either lost or stolen.
deléd > The wallet
i Oalad > stolen s lost i

a. simple sentences : s& dall ) sSuud Jad (e ST 5 aal 5 Jeld Lyl Ua 13

l Ol M) Alaal) Lol (5 dlasio IS4 Jub o ST 5 Jeld on ST Lm0 3Y Jopal el o) DA} *% d
l alan yiag Uia > aal g Jab agaany oSy Jold (e SIS (gaie ()6 il m) (sl 138 Joany of oyl (4 d
5 (A o2a) 5 Aleall yiiad Ll -
U% Exercise : H
I |
! Decide whether the subject in the second clause is: |
l ]
‘T a. Optional (can be deleted) (L3 (Sa) d,lia) b, Obligatory (cannot be deleted) ¥) 4! ) H
| (Ledas e }
i

|

1. My neighbor is going on a trip and his family are going with him too. &

Jelé > My neighbor

IL

I

IL

I

IL

I

IL

|

L Al Jeléd > his family =
Il |
L J
i b. Obligatory (cannot be deleted) :s& il sall 13) ¢ Laaaal ada Sy ¥ 5 lilis ]
I I
L, s
H° 2. My neighbor is going on a trip and he will take his family with him. )
" A
Il . . .
ﬂo Jeld > My neighbor i
i q
i "(My neighbor) Jell uis e 35m) e " Jelé > he
L J
L a. Optional (can be deleted) :ss o sall T3 ¢ Laaaal Cada (S 5 (lesbiiia J
Il |
L J
}OL 3. Sara will study hard for the exam, and she will try to get high grades. 1
| ]
ﬂ" Jeld > Sara Il
‘T " a a n a oﬂ
}0}% (Sara) Jeldll (u&i e 3gay jam " Jeld > she }
101% a. Optional (can be deleted) : s <lsall 13 ¢ Laaaal ol oKy 5 oledbiia U
L, s
U% 4. Sara will study hard for the exam, and Maha will do the same. H
|
H |
I a.allia.n a i ® Il



2 6 T eg T T eg T o) e e e e e e e

Jeld > Sara
Al deld > Maha

b. Obligatory (cannot be deleted) : s il sal) 13) ¢ Lavaal Cida S ¥ 5 il

Lecture 12
Subordination Gl

Subordination:

In Lecture 1 we said that sentences can be divided into simple, compound and complex
sentences. We discussed simple sentences in detail in previous lectures, especially Lecture

10, and compound sentences in Lecture 11. In this lecture, we will discuss complex

sentences.

A complex sentence has two or more clauses joined by a subordinating conjunction. At least
one of the clauses is subordinate to a main clause.

A main clause (also known as an independent clause) is a clause that can stand alone as a
complete sentence.

A subordinate clause (also known as a dependent clause) is a clause that cannot stand alone

asa Complete sentence.
4zl Janl
cmdujcﬁfda;s&*udaG&\Mg&agw\u\hﬁé}y‘iﬂ@\@

‘;:\_S)A\ M\Uﬁujcﬁﬂw\ﬁ)@@\gtapﬁm‘ Q‘FM‘@M\JM‘ Jead) LZ8G
daaadll Jaall BJ.-'A\AAM XYY GSuﬁLuu) b e 3....\&\;1\ B).a.'a\AAj\

(one clause — 52l 53 i) e (5 sind Aol Alagd)

Cile Cagya JIA (e peeiany (ahaii e (two clauses or more — Sl oy j8) e (s 5iad 1438 sal) Alaal)
(.’.v::;) -

e .

Cibae Cig yn JA (e aguiany (hasi e (two clauses or more — ST sl (i 8) e (g giad 1palaal) dlaal)

b ) (clause) 5_3dl axe Aeall g o
2 Y (one clause — 3asl 53 ,3) i simple
Coordinating Conjunctions :J3 ¢ | two clauses or — i) ) oy )3) compound

a.allia.n a. <8 ©




Correlative Coordinating Conjunctions 5 (more A
Al Cabe (o5 — 4gduati Cilae (g pa)
(4e )i

Subordinating Conjunctions :J3& ¢ | two clauses or — JiSI i oy ji) 3232 complex
Correlative Subordinating sl (more
Conjunctions

4 ilae (o5 — 4 Cilae g a)
(4= yia

8N e Joa 0sS8 of ) bl 358 e dgalaie) (5585 o ol ke (585 @yl sda gaa) JBY) le*
(Al

i3 G35 ad) & 5 (independent clause - Al 5 jidl) L o35 1(main clause - dsulud) 3 jadl)*

sill a5 (dependent clause - &nlae¥) s jidll) La o35 1(subordinate clause - 4l 5 jaill)*
Al leaS Lo e 2aie3 Y 3

¢ A clause can be subordinate by being able to do one of the following:

sl LYl san) Jee qalind of M (e (amsll) o o5 o 5l (Kart
1. replace an NP in the main clause
e.g. Everyone could see it.

Everyone could see (that) he was frightened.

The subordinate clause “that he was frightened” is a noun clause. It functions as the object
of the verb “see”.

2 Al 388N (3 dpa) 3 jlad) Jlagial-1
Everyone could see it /Jts
. (see) Jxill Jsnia g5 dpanl 3 lie s 5 jpaa >t
Al a5l e dgalaie] 5 Al 38 > ((that) he was frightened) = < lalilagi)
Jadll > see
Jgmds e aaia Al 4lea > Everyone could see
(see) Jill Jsmia & La Lgiidh 55 Aaend Ales & " that he was frightened" 4l dlaal) 1) *
2. modify an NP in the main clause
e.g. | often see my old school friends.

| often see friends who were at school with me.

a.allia.n a. <y ©




I The subordinate clause “who were at school with me” is called a relative clause. It functions

| as a modifier of the NP “friends”.

l :

i Al 5 AR (8 dpa) 5 jladl Jaaai-2
I .
°% | often see my old school friends /J&a
L, . (my old school friends) 4lxill 5 jlall (ul ) 58 5 dseul 3 e > friends
U% " friends" < (sl U 408 Y asa agziea > my + old + school
eie Y (clause — i) gua s s dulill ¥ sea SN o3 slaind (Sadll (pe*
I " friends" ol daadl (subordinate clause - 4 3 i) aladiul ¢Sad) (4 13
l

I b_ysd dalaie) a5 daulal 5 58 > (who were at school with me) = “my old school" < Was.
I JSSM&QM\A.\D\“ Al > (wh t school with Id school" < Wasiul*
I sl duly)
|

|

. .(main clause - bl 5 ,8) & 5 Uiiue daa & > (1 often see friends) 13*
L (subordinate clause) 4nlic) dea & > (who were at school with me)

Mriends” oel U J3 5 L) 5 il 4% Ua Lpalaie V) Aleal)

i Aal) dleal) 5l 4 g sall Aleally 233 " who were at school with me" 4l dlesl) T31*
S friends” dpes¥) 5 jlall Joaed Lia Lgidda g

3. replace an adverbial in the main clause
e.g. I met Ahmed twenty years ago.

| met Ahmed when | was at school.

|”

The subordinate clause “when | was at school” is an adverbial clause of time. It functions as

an adjunct in the main clause “I met Ahmed.”
s AaluY) 588N 8 Cag Bl Jlaiul-3
| met Ahmed twenty years ago /Jis
Okl e <oyl > twenty years ago
4l 3,ke > (when | was at school) = < slilaiul

lebia ey thy Jia) a¥

|

H° I met " danlu¥) Alaall 45 U Liada g5 le 3l e 43,k Alea 2 " when | was at school" 23l dleal)
| "Ahmed
I

Il —~7 —Zo 7

Ty 4 Jaiual) g 4 Jaiaal) 4 5i 9 Jaicual) Jad)

"sgﬁ% J=sll J gmda 5l e galalie)-dienl 5 58 | that he was " " gl 5 jbe> it | Apen¥) 5 jlal) Jlagi)
: " Everyone could see" il | frightened see it e (1o Auluy) 5 8l 8
o
I
Il
‘0‘% a.allia.n a. <y ©
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I A A agally dge 453
|
|
4—»«” 3 kall Jaza 58l e galalel- 4 dlea | who were at daeu) 3 jle>my old school | dwew¥) 8 jlall Jlaiiul
. "friends" " | often see friends"4&iual | school with me | my old school friends :ilax (1 Luluy) syl
4'““ e all i | e galais)-gla 3l (e 48 )l dlea | when | was at <iLk> twenty years ago | b skl Jladul
"I" 't Ahmed" " | met Ahmed"4l&iwall 3 3l | school Al 8

A subordinate clause is usually introduced by one of the following:

1. a subordinating conjunction, e.g. when or that

2. a relative pronoun, e.g. who, which, whose

A pLdY) gan) A (e g

3

sale doalaic ) 5 jadl*

that o when 1dgalaiey) cilall Gig s -1

whose sl which sl who 14 s sal) i Adaudl) yileal) -2

Compare:

1. a. He was frightened. (Independent Clause)

1. b. that he was frightened (Subordinate/Dependent Clause)

2. a. 1 was at school. (Independent Clause)

2. b. when | was at school (Subordinate/Dependent Clause)

Examples “1.a” and “2.a” are independent clauses. They are complete sentences by

themselves.

Examples “1.b” and “2.b” are subordinate clauses. They are not complete sentences on their

own. A main clause must be added to “1.b” and “2.b” if we want to make a

complete sentence from them.

15
s s (JGall)s jaal | JUial) a3,
. 44l dlstue dea- | He was frightened 1.a

(Zﬂsfmm '&Jﬁé)-
ALl e dulaie) dea- | that he was 1. b.

(el 3,8)- | frightened

Al e st e aaietl Ll 38 ) lind-
. 44l Algiue Aas- | | was at school 2.a

(‘ds.uu 5 i)
Al e dlaic) dea- | when | was at school 2. b.

(Blic) 5 j)-

Al Alen a5 Lgle aaia] dpulid 38 ) 2l

Exercise:
Decide whether the underlined clause is:

a. dependent b. independent

a.allia.n a. <y ©
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1. It was obvious to everyone that he wanted to leave.

5 "that he wanted to leave™:Js& o askaivs ¥ "that" 4alS 3 sa § 13l > that he wanted to leave
b. independent : s il sall ¢hpalaic) dlaa o 13 Ll 55000 e Alan ranains LY Al 8

2. He wanted to leave and this was obvious to everyone.

5 "He wanted to leave":J s ¢} apkins (it Ll (5f) Lalaie) e dles o3 > He wanted to leave
a. dependent 1 s il sall 13} €Al s ke dlea zraaiv LY Aleal) g

3. My friends came to visit me when | was in Dammam.

5" when | was in Dammam":Js& of gakiws ¥ "when " 4alS 3 sa 5 a3 > when | was in Dammam
b. independent : s sl 5 tialaic) dlan o 13 Aalls 5 3nia e Alea muaiv LY Aaal) g

4. My friends came to visit me, but | was in Dammam.

&5 5"l was in Dammam "1d i ¢ gl (s il l) dlaie] e dlex 228 > | was in Dammam
a. dependent : s il sall 13) €44l ke Alaa eaainn LY Alaall

Types of Subordinate Clauses :
1. Noun Clauses
2. Relative Clauses
3. Adverbial Clauses
4. Other (Conditional Clauses, Result Clauses, Purpose Clauses... etc.)
s dgalaie¥) Jaall g1 550
ey Jeall-1
Ugeasall ol 2l Jaall-2
4kl Jaall-3
4k 4l Jeall-Conditional Clauses < s, ak-4
daitiudl sf 423U Jasll-Result Clauses
Ll d8algl Jeall-Purpose Clauses
13}323\ Jwall-Comparison clause
4shidl Jeall -Reason clause

We will take a look at each of these types in the following sections starting with noun
clauses.

a.allia.n a. <8 ©
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e Jaall Tedy A acdll 8 01 381 038 (e IS Sle 5 ylas il
Noun Clauses
Noun Clauses :

We can divide noun clauses into that-clauses and wh-clauses. A that-clause begins with
“that” and a wh-clause begins with a wh-question word, e.g. what, who.

Lan¥) dleal)
v v

"that 4l Jea" that-clause

AL Aals > wh ) Jea" wh-clau:

(that) = fas What-Who /Jis (wh- question )} <l

A that-clause can have four of the functions of the NP. It can be:
:That ) Jea -
10838 ¢ NP Lpan) 3 lall e il 4 (B 0S5 O (Sl (00
1. Subject of a Verb in another clause
e.g. That the driver could not control his car is obvious.
(=It is obvious.)
Note: “That” is obligatory in this sentence. We cannot delete it.
DA Ay b Jadll i i Jolin
That the driver could not control his car is obvious /Ji«
It is obvious ="It" Lsexall Ldlatiul wlains 5 ¢ Jeld > That the driver could not control his car
d=é > s
4lsSe > obvious
Jeld Cels "It is obvious"ilea (B (It) dalS**
Ledds Lia Y dlaall A (obligatory— 4wl ll) < (That) 4elS Ua- ;s sale*
. (That) 4K ;53 (the driver could not control his car is obvious) :J s gakies ¥*
2. Object of a Verb in another clause
e.g. Everyone could see (that) he was frightened. (=Everyone could see it.)
Note: “That” is optional in this sentence. We can delete it.
s A e A Jaill § saief2

Everyone could see (that) he was frightened /J%

a.allia.n a. <8 ©
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2 6 T eg T T eg T o) e e e e e e e

Jeld > Everyone
2 lue J=é Modal > could
J=éd > see

Everyone could = (it) _xeall allaivl (Sadl (10 5 ¢"see” J=dll Js2ia > (that) he was frightened
see it

Ssee" Judll Jg2da ela " Everyone could see it" Ades i (it) AeIS**
Ledia iy cdleall 84, )L8a1 “That” 4alS Lia- ;4L gale*
Everyone could see he was frightened < zaai® dlaall (10 lgdda aobaivi-
3. Complement of Subject +BE

e.g. The truth is (that) he was very shy. (= The truth is this.)
Note: “That” is optional in this sentence. We can delete it.

155 Jab + Taizall o) Jolil Alasa/3

The truth is (that) he was very shy /Jis

Ixise > The truth

LS Jxd > s

The truth =(this) 5,L8Y) auly adlainl (Sad) o5 ¢ 45380 Jail 5 lxiaall A& > (that) he was very shy
is this

Lgida LSy llaall 6 4 jLia) < (that) delS Ua- 14 gale*
The truth is he was very shy < zuai dlaall (e ledda apbaini-
4. Apposition (to nouns like “fact”, “truth”, “explanation”)

e.g. The fact that he was shy surprised me.

“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the
fact”. We say that the noun clause is in apposition to the NP.

Note: “That” can sometimes be deleted in this case.
:Ja /4
. explanation — truth — fact /Jie ¢ elau) -

The fact that he was shy surprised me /JU«

daul 3 e > The fact

a.allia.n a. <y ©
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e TS TR TS

alaie ! 5 i
Jar
. (The fact) 4 3 Lall Jx 58 (that he was shy) o 1 sk ¢ siaall (i Lagl LaaDIS-

5353 50 (1553 Bale oK1y Allall o2 3 Alaad) e 3333 0 Kaall (0 (that) 4elS Gla¥) any i 1A galat
The fact he was shy surprised me < zu<i

Reported Speech:
Reported speech can be either direct or indirect.
1 siial) ildadd)
e e 5l il ) sS 8 sl iadl

a. Direct speech is quoting the actual words spoken by someone. In this case, we write the
quoted sentence between quotation marks (“”).

Lo aal e (L Linind)) 25325 Fyndl 5l) culalSU i) e 5 e s 1 pdilal) il (§
“7) sps GLEY) Aadle (p ALl dleal) S Alla) o2a b

b. Indirect speech is restating the words spoken by someone. We can use a “that-clause” to

report indirect speech.
e aal (e (L) Uainsl) 2332500 CUSW a2 la sale) (e 5 jle 5a 1 plae ydd) qiladld) (o
(42 samsall LS Ao lpa U jie W) (ulaV) Aadle aadia o () 50 Lo sdllall o2a &
il e s 6 eif‘ﬁ (That-clause) pladiul LiSay ¢dllal) oda
e.g. The man says, “The road is closed.” (direct speech using quotation marks)
The man says (that) the road is closed. (indirect speech using a that-clause)
s Gl 8Y) Liariiinl ¢ ydlae Qb > The man says, “The road is closed” /Jtis
Aéi"that" 4alS Laadiul il & lbad > The man says (that) the road is closed
B. Wh-clauses
A wh-clause can have four of the functions of an NP. It can be:
:(Wh-) &) Jas -
1052 ¢ NP Lpan) 3 lall e il 4 & 05SE G (Sl (00

1. Subject of another clause

a.allia.n a. <y ©
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e.g. What caused the accident is a complete mystery. (= It is a complete mystery.)
rl ddaal Jeld /1
What caused the accident is a complete mystery /J%s
It is a complete mystery="It" sl 4llainl (Sar 5 <Ixise > What caused the accident
Jad > s
2. Object of a verb in another clause
No one knows what caused the accident. (= No one knows it.)
16 A Adaa B Jadll Jgaia [2
No one knows what caused the accident /J%«
Jelé > No one
J2é > knows

No one =(it) _xexall allasivl (Sadll (e 5 ¢" knows" J=dll J s2is > what caused the accident
knows it

3. Complement of Subject +BE
The question is what caused the accident. (=The question is this.)
(A5 Jab + faisall g Jolill Alasa/3
The question is what caused the accident /J%
lxis > The question
LS Jxd > s

((this) 3LEY) auls Ldlagiul (Saall oy ¢ 45380 Jadl 5 Txisall dleSa > what caused the accident
The question is this <guai

4. Object of a preposition
This depends on what you want. (=This depends on it.)
1l dijal Jsrda /4
This depends on what you want /JU«
Jeld > This
J=é > depends

A <a>o0on

a.allia.n a. <8 ©




H This depends on it =(it) _xeall adlagin) LS 5 ¢ (on) Uall sl Js2ée > what you want H

Exercise:

i What is the function of the underlined clause? ol
I |
% a. subject b. object c. complement d. appositive &
b 1. The fact is that no one could do it. Pl
L Jeli > The fact 1
Uo S+V (Be) OU
I 45S Jab > is [
L o o |
\T . el JLSY Alaall 8 aga Wasa s OY ¢ 4lSs > that no one could do it H

c. complement : s ol sl 13)

A 2. What he discovered was important for science. i
H Jeld > What he discovered H
458 Jad > was
I a. subject : s sl 13 i

3. The fact that no one could do it disappointed me.

((Aenl 3 ke) Jelé > The fact d
|
|

(Aaawl Aaa) Ju > that no one could do it |
|
|
o"}o

4. Everyone knows that he made a great discovery. A

|

|

|

|

|

|

|

|

|

|

|

|

|

1

| d. appositive : s &l sall 13 i
|

|

1

|

: Jeld > Everyone
|
|
|
|
|
|
|
|
|

J2d > knows Pl
|
|

" knows" Jaill J s2is > that he made a great discovery )

°l

a

i b. object : s sl 1) [
I A
| |
‘% 5. The workers rely on what the manager has to say. H
¥ i
;° A~ <ia > on Jda > rely Jeld > The workers ;‘
J (on) sl s sl Js=éa > what the manager has to say }
L I
|
I |
I a.allia.n a i ® Il
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b. object ; s& il sall 13)

Lecture 13

Relative Clauses
Relative Clauses :

In Lecture 12, we discussed subordination and the types of subordinate clauses. We talked
in detail about the first type of subordinate clauses: noun clauses. In this lecture, we will
cover other types of subordinate clauses in more detail.

) Jand)

gl Jeall ¢ )i 5 adagl) WSl ¢ yie 400 3 paladl
Asans¥) Jeall 1 4l Jaall 31 £ 5l e Jaaiily Wi
ST iy agactl) Joall (5 AY1 151 s 65 unlall oda b

2. Relative Clauses

A relative clause is a clause which mainly modifies a noun phrase. It usually begins with a

”

relative pronoun: “who”, “whom”, “whose”, “which” and “that”.
e.g. 1. The car which he owns is very old.
(The car is very old. He owns the car.)

Sometimes the relative pronoun can be deleted (zero relative pronoun), but it still exists as
a grammatical position in the clause.

e.g. 2. The car he owns is very old.

In example 1, the relative pronoun “which” is the object of the verb “owns”. Similarly, in
example 2, the zero relative pronoun is the object of the verb “owns”.

: 4l Jaall 13l s
adaudl Jaall-2

RSPV 35 9N R PV g P VS [ PN Y
22 (30 JS who, whom, whose, which, that Al duuill jilecally Jaall o3a fasi sale
Ll ey ade Caaati (el aladiul) 4l jilecal)

The car which he owns is very old /1J%

ilaall o8 5 (which) s Ua axdiual) Ll juaall g 43w s 8 e 43 4323 Aea & > which he owns
. (owns) J=ill Js2ée 8 (which) ssasall 5 &silia) Cila slaa Lithae | 68 (car) uisall Adee o Lgidids g
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.

o,
%0 ¢

o,
%0

o,
%0

o,
%0

[T

o o o o o o o o
O ¢

o o o o o o o o
% % 9% % 9% % 9

o o
PO




2 6 T eg T T eg T o) e e e e e e e

o 548 152 5a iy (K15 ¢(zero relative pronoun)= e 5 <aing 8 il juaall Gla¥) (aey 4%

The car he owns is very old /2Jb«

sl 5 (zero relative pronoun) = e il jaall 5 40 lea Lee 53 45 dlea & > he owns
owns" Jadll Jgria sa La il

The relative pronoun points back to the head of the noun phrase modified by the relative

clause. The head of the NP is called the antecedent of the relative pronoun.

e.g. The man who called us yesterday has come to meet you. (the pronoun “who” points
back to the head of the NP “man”. “Man” in this sentence is called an antecedent.)

Al yilaall (aaiid) jeaill-antecedent) J oo Caasii GYI*
sl 380 A e clie ) Apand) 5 jlall Gl 5 D) ey sl panall-
il yacall (antecedent -paiall Gul Hll) oo 5 dpan¥) 3 lall Gl i

The man who called us yesterday has come to meet you /Jt«

cdeli gl g Al 5 e > The man
(Who) 2l yanall (antecedent -aie () ) 585 (The man) 4z 5 )Lall Ll 5l 58 > man
(man) Jelill A3es Lgils 5 daand dlea & > who called us yesterday
" man” Gl sl (Who) 13 <" man” s 4l asiall jeaiall 5 s e > who
e The Use of Relative Pronouns:
A. Personal Relative Pronouns
The personal relative pronouns “who” and “whom” are used with human antecedents.

e.g. 1.Thereis a man outside who wants to see you. (There is a man outside. The man

wants to see you.)

e.g. 2. Ahmed, who/whom | told you about yesterday, is here. (Ahmed is here. | told you
about Ahmed yesterday.)

1l xs (antecedents — dediiall jualiall) (e apaall g aaadid G (S Al jilacall (pe ap2all ;LG Las

daaddd) Lawdl) yiladal) -

.(human antecedents -gbui¥! (A S ) dedfidll paliall) ae a2diud ylaa 4 (whom - who)

a.allia.n a. <8 ©
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There is a man outside who wants to see you /1Jt«

¢ Q) () ey aafie jaic 8 "man's "man” e 252 < who
There is a man outside. The man wants to see you : guail daall s3a Juad (Say

Ahmed, who/whom | told you about yesterday, is here /2J%

¢ ) A Oy Gledia () paic Laa s "Ahmed" e 122 < who/whom
Ahmed is here. | told you about Ahmed yesterday : zuail daall 238 Juad (Say

Ahmed, who/whom | told you about yesterday, is here*
. ddiaall Alaall & Jeld ols (Ahmed) 44lS La
Ahmed is here. | told you about Ahmed yesterday*
Aladidl dleall (8 43 J s2ie cla (Ahmed) 4a1S La
B. Non-Personal Relative Pronouns

The non-personal relative pronoun “which” is used to talk about animals, objects, places,

ideas... etc.

e.g. |wantawatch which is waterproof.

(padd ) pdl) ekl -
(mnd e yraca al (gf) &) Y1 5 QLY 5 eLiY) 5 Ul pall g paiiy sies g8 (which)
| want a watch which is waterproof /Ji«

«( animals, objects, places, ideas... etc) e Ju "watch" 5 "watch" e 294 < which
(which) eeill yeall aaiia jaic s " watch"-

C. Personal and Non-Personal Relative Pronouns

The relative pronouns “that” and “whose” are used with both personal and non-personal
antecedents.

e.g. 1.There is the driver that was speeding. (“that” used with the personal antecedent
“driver”)

e.g. 2.Thereis the car that was speeding. (“that” used with the non-personal antecedent

Ilcarll
L

& s human antecedents -l () 88 Al desiial) jualiall) ae padind flaa 4 (Whose - that)
(LS8 5 oSLaY) 5 £ LaY) ) gaal)

There is the driver that was speeding /1«

4w dlea > that was speeding

a.allia.n a. <y ©
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(driver) st asid) juaiall 138 ¢l ) jady oeadd adie jeale g olieddiul 5 s e > that
There is the car that was speeding /2J%
4us Aea > that was speeding
(car) s a8l paiall 134 ¢ padl ji adi paic ae slieddiul 5 o jeda > that
Note: “Whose” gives the idea of possession.

e.g. 1.The man whose car you borrowed wants to see you. (The man wants to see you. You

borrowed his car.)

e.g. 2. We saw the castle whose walls were made of rocks. (We saw the castle. Its walls

were made of rock.)
:(whose) (edll jsadall oo 4 gale*
(Whose) sl jraall aadinsi (e puia g oo il L i 13)
The man whose car you borrowed wants to see you /1J%
4% Alea > whose car you borrowed
(i _pea > whose
.(Whose) swill jaall aiéia paic @ > man
Cpme s > (Ja bl o 6l Qi) oe 358 elacy Uia " Whose" Leasiul-
1J 58 8aaall Alaal) Jumd Lia i 13)-
The man wants to see you. You borrowed his car.
We saw the castle whose walls were made of rocks /2Jt«
43 4les > whose walls were made of rocks
(i _paa > whose
.(Whose) il el aliie paic s > castle
e aaza s > (aall (e de gias 2ol ) jaa ) o 5,88 clacY L " Whose" Lieadiul-
1] 58 8aaal) Alaal) Juad L i 13-

We saw the castle. Its walls were made of rock.

tdaga da glaa*

Alaall 8 il el Jao s Le asd cang ALY o3 Jiad Jadl die-

a.allia.n a. <y ©
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¢In the following section, we will talk about the third type of subordinate clauses: adverbial
clauses.

AR Jaal) s Gl Jaall (e Gl g il e Caatian £ I sl 55

Exercise.

Which of the subordinate clauses in each of the following sentences is a relative clause?
a. relative clause b. not a relative clause

1. The machine which makes plastic bottles is broken.

U3aa Lgiads 5 > which makes plastic bottles
(add e aMis paie > machine

)il asa 5 ¥"which makes plastic bottles"ilesl) s3a (o slixin¥) (Say 3%
(el ine (o Y alitis 1Y )

a. relative clause ; s sl

2. The manager is upset about what the worker told him.

Al s s > what the worker told him
Jeld > manager

¢ Ja) Lasa s (Y"what the worker told him"ideall a3 e eliaiu¥) (S Y T3
(el e (g (i aliada 13) )

b. not a relative clause : s <l sall

3. The problem is that he didn’t oil the machine.

4leSe Winds 5 > that he didn’t oil the machine
l3ixe > problem

@ ea) Lasa s (Y"that he didn’t oil the machine"ieall s3a (e liaiu¥) Koy Y 13
(el e (g (i alidds 13) )

b. not a relative clause : s <l sl

4. The worker that forgot to oil the machine is speaking with the manager.

a.allia.n a. <8 ©
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43ea Lgidds s > that forgot to oil the machine
(add pe adiia paie > machine

@) asa 5 ¥"that forgot to oil the machine"ieall oda ge oliiuyl Koy 131*
(el ine e B Y Lalisds 13 5)

a. relative clause : s <l sall

5. They called a technician who could fix the machine.

A3 g3l s > who could fix the machine
Sl Y ady amd adie jeaic > technician

) Lasa s 0¥"who could fix the machine"ieall sda ce oliiuy) Koy 13*
(el ine (o i Y lalitis 13 )

a. relative clause ; s sl

Adverbial Clauses

3. Adverbial Clauses:

Similar to adverbs and adverb phrases, adverbial clauses allow us to talk about time, place
and manner.

: dgd ) dlaad) -3

Gl 5 S 5 el e Cnaally W ans Al Jaad) ¢ Lalas 38 I < jlall 5 Cag b and ¢ 6l 1

e.g.

Sl
| met Ahmed in 2005. (adverbial phrase of time)

I met Ahmed when | was travelling. (adverbial clause of time.)

He parked his car here. (adverb of place)

He parked his car where there is a parking sign. (adverbial clause of place)

He drives carefully. (adverb of manner)
He drives as his father did. (adverbial clause of manner)
| met Ahmed in 2005 */J%
el (e Wi 4 5k 5 e & > jn 2005

| met Ahmed when | was travelling *

(&8 o2 s) Gl e Ll 48 jla Alas ilee ¢ ¢35as Alea & > when | was travelling
He parked his car here *

_Q\SA‘Q;L’JJB@)ZE)L);@> here

a.allia.n a. <8 ©
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He parked his car where there is a parking sign *

(28 o2 s) Gl e Ul 48 s Alas slee o8 ¢35ai Alea & > where there is a parking sign

He drives carefully *
Sl o gl e Wy s Gl s > carefully

He drives as his father did *

(&5 ) Dol sl gl e Wi 4 )k dlas e 5 ¢40asi dea 2 > as his father did

” u

Note: The words “when”, “where” and “as” in the previous sentences are subordinate
conjunctions.

Adagi Calae oy pa e 3 lbe ALl Jeall & "when- where- as "<l il Lot

Adverbial clauses also have functions similar to adverbs and adverb phrases. For example,
the adverbial clause in the following sentence is an adjunct:

e.g. | met Ahmed when | was travelling. (The adverbial clause “when | was travelling” is an

adjunct.)
" gigds 5 A Aleal) (3 Apnstl Aleal /e A I i lanl) 5 s ylall Agpa Cailda 5 gl A8 50 Janl

I met Ahmed when | was travelling

(&) Wik 5 4% ) 43 Aes > when | was travelling

Compare: | met Ahmed in 2005. (The adverbial phrase “in 2005” is an adjunct.)
DA\
| met Ahmed in 2005
AUl g gl e Wi A )l s e 4 > in 2005

¢ In the next section, we will look briefly at examples of some other types of subordinate
adverbial clauses.

Al 2al) Jaall 5 Al £ 151 Gand ABl e jlaialy s s il ¢ J) andl) 8%

Other Adverbial
Subordinate Clauses

Other Adverbial Subordinate Clauses :

4., Other Adverbial Subordinate Clauses

a.allia.n a. <8 ©
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Please return my book if you finish reading it. (Conditional Clause)

Ahmed is quicker than | am. (Comparison Clause)

| couldn’t open the door because | used the wrong key. (Reason Clause)

He closed the windows so that he wouldn’t hear the noise outside. (Purpose Clause)

rs A B Lad Jas
rs A dghl dad Jay -4
(if) > : Conditional Clause - 43k &) Alaali-1

Please return my book if you finish reading it /J% ¢« s Caay

(than) > : Comparison Clause - (dgzsdill) Aulucadil) dlaal)-2
Ahmed is quicker than | am /J%e ¢ (il o 45 )\ia
(because) > : Reason Clause - (dxsedl) dsdkaial) dlaal)-3

I couldn’t open the door because | used the wrong key /JG« ¢ L ¢ 2 Joe o a3

(so that) > : Purpose Clause - dxa_all dlaali-4

He closed the windows so that he wouldn’t hear the noise outside /Jta
140 pale*

s AY) A8 el Ladl) Jaall g 48 1Y Jaal)-

wiren, where, as-

"subordinate conjunctions " Al Calaall Cag ya ab e
11, uian, necause, so that-

5 ALt du etV A1) 6 L G ¢ Aliaiie 5 Aliate yilacm Ay jall Al 3 Ll 8 5m LaS 1 Aliadla **
Ul (laiall dpas il jlecall liae " Personal Relative Pronouns"ilaid) jiledll e Jis) dlaiie
Mt 5 Al ilecal Led) Lol e U Lgia i

A goa sall Jaadl sl A3l Jaal) sWlias (Relative Clauses) of !

a.allia.n a. <8 ©




